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ASSOCIATESHIP EXAMINATION
INFORMATION TECHNOLOGY

g 36 ] | [T 3fe : 100

Time: 3 Hours] [Total Marks : 100

TRt 313 Uoel o S N | THal 99 o 16 3ieh 2 Terg 9 o1frardd Tt € 1
FTANM TRFE I 2w H E |

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
‘ compulsory. All other questions carry 12 marks each.

Marks
1. Tt ot 3 s st (50 % 4 3()
3) IFRFT FFRE JAV & Y T8 el 1 Fehell & 7
q) ‘sffeiaR SRF=T WA Ft HlRw e R .
¥) FU A, T A 791 3o igel WIS B T B,
]) Wfee fRafm qgr Yo Rafym & o) e aufa & .

1.  Answer any three :- 4 each
a) How to prevent unauthorized computer access?
b)  Write briefly about Object Oriented Programming?
¢) Compare Low Level, Middle Level and High Level languages
d) Write briefly about circuit switching and packet switching.

2. TRt ot % s dofie (9% % 4 31%)
3) T WA 2165 F IF-IWMAT JUeA T AT,
9) ITEE WEA 354 F T WS JUlh Yued FNE 7
¥) IO HEAT 246 F GEHR GG 6 HISIT,
7) “f3 et dd” w2

~

2. Answer any three :- ; 4 each
a) Find the hexa-decimal equivalent of decimal number 2165.
b) Whatis the octal equivalent of decimal number 354.
¢)  Convert the decimal number 246 to its Binary equivalent.
. d) Whatisread only memory?



fer=dt <= & s st .

M) FfEH IRRET Joreh F T wg.

F) ST NIRRT yureh F weH B We w .
) WET HaL H ITRA F G § guiw .
T) ‘FOER ‘TR ¥ T @ P g ?

Answer any three:-
a) What are the features of Unix operating System.

b) Specify the constituents of a data processing system.

c) Describe in short the utility of a file server.
d) How do comnipilers differ from Interpreters.

e fergt ot W it fewmftrt forg
) SEH-2(q qfeAlIT -

) HEh

q) AR uftar AT

7) 3T

Write short notes on any three of the following:
a) Desk top publishing

b) Microcomputers

¢) MAN (Metropolitan Area Networks)

d) FEthemet

Tl &t & s v
) 9 e s F g ?
F) aqd 4vft 9T & A H W W,

AC 21
(TF & 4 )

4 each

(T & 4 3F)

4 each

(I0F & 6 3F)

¥) I &% AEVEST S & Agas REH & Id .

Answer any two :
a) Whatis event driven programming?
b) State the importance of 4™ generation languages.

6 each

¢) Narrate the Networking system prevalent in a Branch or Divisional office

of an Insurance Company.
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Tt @t & I s - (I8 F 6 3()
) T oA g § g st # e B e st
T) T-3HTE oET 3 M 3 ww Fifv,
) dwHaeEE ‘@ e’ #t sufa @ faeTm .

Answer any two : : 6 each
a)  Outline the role of IT department in an insurance organization.

b) Explain the non-impact type of printers

©)  Discuss the usefulness of spreadsheet in an insurance organization.

s‘ﬁawm&zwaﬁ‘qwﬁ?@awmma#gaﬁé?ﬁmﬁ 12
fora= aR.

Electronic mail and Internet have become essential for a service industry like 12
insurance. Discuss.
) Red it &5 2 ? (9l & 4 37%)

) W (RAM) 71 T% (ROM) F1 8 ?
¥) SR ¢ TEA H IR WL W .
a) What are the functions of System Analyst? : 4 each

b) Whatis RAM and ROM?
¢) Distinguish between Data and Information

TS e o Tk § doa fafte won & d@fea fhew st 12
Describe in short the various stages involved in the systems life cycle. 12

T 799 39 T NUW wl-ae ahEd - - 16
Tt . Fh 3 AR & e 3 O Wil wer ooy e e 8.
o Wt 5T SRER § R o wa e R,

st - = 50%

A= I - =T 50%

| h-faEeh W - =g 50%
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| 3= - AaH 60%
TRITHR | wiaaht &1 50% 914 T SE] .

ferfad wfem i WIRaT 75% T WRIEER RAT 25% ©. F&F T & 36
80% 2. a1 200 wfaartht 9 ferfias when § IufRem gu. 9 Wit
=14 forfae Tder qur TRiehr ¥ Fherd Hltdﬁ?ﬁ? 3 wfoafa
F fere e & 37 T w-9R° FHR3.

Prepare a Program flow chart for the following problem?

ABC company is conducting a competitive test and interview for the post of
managers. A candidate has to secure the below mentioned marks in the following
test

English : Minimum 50%
General Knowledge : Minimum 50%
Test of Reasoning : Minimum 50%
Insurance : Minimum 60%

In the interview also the candidate has to score a minimum of 50% marks.
Weightage of written exam is 75% and interview is 25%. Overall pass marks is
80%. Total 200 candidates appeared for the written examination. Prepare a
flow chart to print the list of successful candidates who have cleared written
examination and interview.

16
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ASSOCIATESHIP EXAMINATION
LIFE ASSURANCE UNDERWRITING

Y ;3 6T ) [T 3feh : 100

'Time: 3 Hours] ' {Total Marks : 100

Tt 218 Uval o Seat T | et 99 & 16 m%ﬁm%aﬁaﬁqﬁ%u
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Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Mark

1 foR e s s (3 3 4 57%)

M A9 2 (F W ) T awd 8 7 e Hew |

9) A9 d F I T B AR areh Bl sTavassaed & avid

o |

q) “var-Afera My’ W HiR fuvh g |

T) ‘@A’ W HHY 9 fuvh g |
1. Answer any three of the following : | 4 each

a) What do you understand by the term E. M. R. ? Illustrate .

b) Mention the financial requirements to be submitted under Key-man
Insurance.

¢)  Write short note on "Bronchitis".

d) Write short note on "Blood-Pressure".

2. fafan d fRdt di FT 3 - (I8 & 4 3(a)
) e &1 faga w9 for@ |
'RUA, FBS, ESR, S.Trigs, S.Cholesterol, ECG, TELE, CBC.

) I 8 A SRR SR A Raf MR R TR SRR
T 2 | W foER yEe &R | .

q) ‘Fren waar fami @ w@ sl 82

?) ‘Rr-fea e @ w1 et 8 2
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Answer any three of the following : ‘ : 4 each
a)  Give the full forms of each of the following :

RUA, FBS, ESR, S.Trigs, S.Cholesterol, ECG, TELE, CBC.

b) Lienis not suitable when the extra risk is of the type : "Increasing Extra -
Risks" - Give your comments.

¢) Explainthe impairment : "Glaucoma"

d) Explainthe impairment : "Varicose Veins".

fafafes # | fedt it &1 s s : (37 h 4 37)
31) ﬁﬁ?wwmﬁﬁwavhaﬁ?ﬁ?wmmww
T gt g g |
¥) 3= WA & YRl @ G G 7 3 aui W |
) T /HaTE At wepiet i wiy quia |
3) ‘- a1 avia R |

Answer any three of the following : 4 each

a) Mention any four important cases where co-existence of certain
impairments is considered unfavourable.

b) Briefly list and explain the types of hypertension (raised B P)

¢) Briefly describe "Purulent Pleurisy"/Empyema.

d) Explainthe term "Haemoptysis".

frrd A Pl A m A » (3% % 6 3%)
) mqﬂam@mﬁmwaﬁmémﬁ@ﬁgmw
AR 7
) @mﬁaﬁwaﬁtwﬁsﬁméwé‘w
FAT SIS Gelehell T W s’ =y ?
¥) ‘afass My F fuieE T8 F WE HSAT |

Answer any two of the following : 6 each
a) What could be possible reasons due to which the proposer may hide or
distort information ?

b) How does anunderwriter exercise great care in selection and underwriting
large sums-assured and lives who are in their advanced ages ?
¢) What is the underwriting significance of 'Encephalitis’.
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et & 1 s e .- (3% % 6 3i)
) @mﬁﬂa‘owﬁaﬂ%sﬁﬁgﬁwﬁamﬁaﬂﬁwﬁﬂ
Tl H M TG T ?

) ﬁwwsﬁaﬂaﬁraﬁwaﬂﬁmﬁﬁmmﬁwﬁmm
TR ?

¥) IPd gUT q°7 Iha MY A IR WE FHOAC |

Answer any two of the following :- ’ 6 each
a) State the factors to be taken into account in devising a system of ratings
for family history of tuberculosis (T. B.)
b) Mention the factors to be considered while underwriting cases of
underweight lives.
c) Distinguish between Hepatitis and Hepatic abscess.

&t & & sw dsfa (3% & 6 3ih)
3) ety staal ® 39 Sifgw F g o ITH Fol & STER
Tt g SU-9m A R- I Wied T HSiQ |
d) WYRUGEA g7 H U 9 arelt STEie &1 quid & |
¥ ) SRAW i) FFw A v
ST Al FT AHHE qod TE FHISAT |

Answer any two of the following : o 6 each

a) Give the three broad sub-divisions of sub-standard risks giving two
illustrations each. »

b) = What are the most frequent abnormalities found on urine examination ?

¢) Explain the terms and underwriting aspects :

) PepticUlcerand 1) Kidney Stones.

THRASh-UEEUE GF &l aui ST |E|aa»'{awwm‘%awvﬁaa\s 12
-3 & HuiHH I B T R |

Describe the cerebro-spinal system and the Underwriting significance of the 12
personal history of meningitis and a personal history of Dizziness.
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HETeHeh & Ao yomeht 3 fa=er

Explain the Numerical Rating Method of Underwriting.

et A | TE W |

Describe "Parternership Insurance".

IR [ ety Sitanl i 3% Sad & 99 I SHH T SA
& STTER witwr g ST # foriSi wamal o qedisha 8 fare
FH WL P |

-3ETET ;¢ gfg et Sifaw,

7 areh A,
o Sifew

Explain with examples the 3 broad sub divisions of sub-std risks according to
the incidence and intensity of "extrarisk" that are considered for deciding the
methods for rating proposals at the Point of underwriting .

(Hint: Increasing risks, decreasing risks, Constant risks)

12

12

12
12

16

16
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ASSOCIATESHIP EXAMINATION
APPLICATION OF LIFE ASSURANCE
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Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

. et Wt W S fft Rl C aemnh e
%) Y3

@) THGE S ST o THR

T) QAT & fRaTRay
- ¥) &t sAfEfaag 1938 =t uw 47.

~ 1. 'Write short notes on any three : 4 each
a) Pension '

b) Types of Takaful Insurance Models

¢) Functions of Reinsurance

d) Section 47 of the Insurance Act, 1938

2. fo=fafan 9 9 Rl o & s SR (¥ & 4 3)
%) e affet & s amy & 9 |
@) o T AE H B W R € S e ce g freRef g

w8 ? ,
) S 9 Y e TR A ¥ v aead % 37
A% | 7d TR T 8 | 39 A § SN 31T i FaRy |
u) H=g A9Es (A & Iq@ qeue S 9aRT | ,
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Answer the following : (any three) ‘ 4 each
a) What are the advantages of a fixed annuity ?
b) What are the various complaints that can be entertained by Insurance
Ombudsman ?
¢) The servicing office of the insurer initiates action in respect of maturity
claim payment'in advance of the due date of the claim. Give your view

point.
d) Discuss the main provisions of Recognised Provident Fund.

3R Y (A ) (T ¥ 4 37%)
%) WHg fimr ok sfm aftmr

g) 9rftert st 3k gum Sy i

- T) WA 3AE 3R U gy saR

W) fmfed affet sk @i i

Distinguish between (any three) : - 4 each
a)  Group Insurance and Individual Insurance

b)  Partnership Insurance and Key-Man Insurance.

c) Traditional (conventional) Products and Unit Linked Products

d) Deferred Annuity and Immediate Annuity.

&) Sfiaw dtr & wEel F SR | (0% % 6 37%)
T) Wﬁnﬁmﬁwwﬁm%ﬁﬁam%mm% |

a) Narrate benefits of Life Insurance : 6 each
b) Enumerate type of plans that are appropriate for different life stages.

. Pl 3 @ Rt & % s AR - (3T % 6 )
'F) aﬁqﬁﬁ?ﬁamﬁmnﬁmﬁmml

@) ‘focftg e & g |

) ‘i yege g § RE T wem @ saRy
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Answer the following : (any two) - 6each
a)  Explain in brief steps in "Financial Planning" process.
b) Components of "Financial Planning". '
¢) Enumerate steps in "Risk Management" Process.

Freeires § & frelt &t % 3 AR - (% % 6 %)

F) U AR @ 3 HT 8 T 8 b B0 ey 19 St NS
U g3 | |

@) T MY A 6 Sifaw yeud weh Ot i @ St Sifaw 'R

AT 97 = I @ | S v fER ey |

) TH A R ER SRy % 9 o) @y f9 g=d Gemei @l
Tt § 7 30 o "Eg g |

Answer the following : (any two) 6 each
a) Whatdo you think are the factors that have led to the rise in the need for
health insurance.
b) Doyoubelieve that Risk management is an approach that seeks to eliminate
orat least minimise the level of risk. Give your view point.
¢) Discusshow health insurance helps in avoiding the derailment of savings

plans.
JERT Ao N § T I TV Y WE R, 12
What is Estate Planning and explain it with objectives. 12"
foreR § wweeT 6 ‘Aa Sfte gea'dften famve & ey § 7 87 12
Explain in detail the concept of "Human Life Value" in relation to Insurance 12
Marketing.

TR AT 1961 it deaelt areft & e wwemse fmes 12
AR i1 i wE W9 it AR # 1 5 |
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9. Explain in detail relevant sections of Income-Tax Act, 1961 for treatment of 12
Insurance premia and proceeds. -

10. Sfte sftar st 3 o frameheral # 9y <161 (e Sl Sga Aed &1 16
T BT W =R X4 gC AAurhdial g1 9o il o e g
B JAA A A TR 3o ugdt €, S R @ ey Ak
Tk fTT 37! W o 1T 3 1 W S TEA € 2

10. Death claim settlement assumes great importance in the total operationsbof a 16
Life Insurance Company. Discuss this statement highlighting the problems faced
by the insurers in settlement of death claims and the safeguards taken by them

in this regard.
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ASSOCIATESHIP EXAMINATION
LEGAL ASPECTS OF LIFE ASSURANCE

T 36 | | [T 3 : 100
Tlme 3 Hours] ' ‘ [Total Marks : '100
MWW&WW|WW% 16 m%ﬁﬁﬂaﬁaﬁqﬁtl

0 Wt Wl uv 12 ddm w '

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. &=t iR W "R fewhnt fafka - ' (TRF 4 3(F)
¥) HWE SftaT e ' ‘
) sftwr A
M) R AT 1963
) UuR

1. Write short notes on any three :- " 4each
a) Humanllife value |
b) Insurance Ombudsman
¢) LimitationAct, 1963

d) Arbitration

2. Fort ot 1 ofeR TR - (37 & 4 3()
F) ool amerdur £y, we sty | | |
) T d@ A, g sfe |t
) A 3. snvafed
u) € e . ame e

2. Distinguish between any three :- v . 4each
a)  Absolute assignment Vs. Conditional assignment ’ '
b)  Group Insurance Vs. Ordinary life Insurance
¢) Representation Vs. Warranty

d) Joint tenancy Vs. Tenancy in common
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’.~wvn=ramma°m o (3% 3 4 37%)

), m%mmﬁvﬁrm%wmsﬁaﬁmm%
saria dftumeral & AR A, TIIEY F o TH Afepar ot
gifefture @ wiftem @ 8 ok 38 StHrRdl & I S e

2

g) UTF Sfad & uns, fﬁqmﬁmmmaﬁwm
- T et wifer # A o | 36 0D 39k Yoy, W, U,
| 37w [ AR o Ot ® R | I g e s e
T feg ITUASR A" 1956 3 Faumi & YR 9 TEE,
fo uifereht it w@H e wE it T ? |

T) O e S e WS W 8, waawgaa‘lm
uifereht & W &, A% 7 @ w7

W) U Stad ot oiferdt 116.08.2008 H aRve ¥ | sftemenat A
IR T F. TRE F 10 f v faena 5 Rar |18.8.2008
ﬁmﬁ%ﬁmﬁﬂ‘eﬁﬁ?ﬁlww&'mﬁ?m%?

Solve any three :- ‘ - 4 each
a) Explainon the basis of dec1ded court/consumer cases the liability of an '
insurer under life insurance policy when the Agent collects the premium
from policyholder and fails to deposit the same with insurer.
b)  Alife assured, Hindu Female died intestate leaving policy moneys as
- only estate and survived by Father-in-law, Mother in law, Husband,
Minor son and Minor daughter. Rival claim was raised by Mother-in-
law. State on the basis of provisions under Hindu Succession Act, 1956
: how policy moneys will be distributed ?
-¢)  Canggroupof people going for picnic will get group insurance policy if,
. not why?
d)  Alife insurance policy is matured on 16.8.08. Insurer delayed payment .
of maturity claim by 10 days. On 18.8.08 policy holder died. Who is

“entitle for claim payment ?

. R A e AR - (3233 6 51%)
%) T S A 8 5 e i gRE § SR A ST
- R g i Aot § 7 el o and e 7

-
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.a)

a)

<)

3
g Hegqdl ST fF Al st aafafogg 1938 &t 9rT 39 9w
& I @ Fam ? :
uiferdt @3 & < I¥ % g Stad SH A T THT AT

"Section 38 of the Insurance Act, 1938 provides complete code of
transfer or assignment" Explain this statement with reference to various
provisions made under the Act.

What is meant by disability benefit under life insurance contract ? Briefly
state terms, conditions and exclusions, if any ?

Enumerate the various provisions contained under Married Women's

Property Act 1874 ?

AL -24

)
A T g % 9 e sften wiferht & sfmfa SEr-ande
P TR | W FoT H A AT 1938 3 AW 45 &
s 2 T3 wraEE & wed sy |
Solve any two :- . " 6each.
Law demands that presence of insurable interest is must in life insurance
contract. How far it is satisfied in Group Insurance Schemes ?
b)  Imagine what would happen if, Section 39 of Insurance Act, 1938 is
~ scrapped ?
c)  After2 years of effecting policy, it is not easy for insurance company to
repudiate claim- liability under life insurance policy. Explain this statement
with reference to provisions made under Sec. 45 of Insurance Act, 1938
Treferra & 9 foredl &t a1 Sa i - (A% F 6 )
%) oftar e 1938 & a1 38 T WTET WRUT ERACLOT Al
 ogdur 1 R | 59 % H AR & fwia e yEw &
Hod § wmemRw |
T) Gﬁaﬂa&mqﬁm&whaml%wmwwaﬁm% ‘7%1&?11
¥ fafay v, e S aetr Ak HiE @ ?
M) foenfed St Huar srfufEm 1874&‘awfm%rfﬁsrmmﬂiﬁ
ﬁr@q |
Answer any two of the following :- 6 each
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Tt & yoat o I i (%% 6 3i°F)
%) St st oo TEEl w EEE § A8 A R S

TR A T [F9 FHR T AR T & Sho W Ew e ?
@) TS AR Far Gt vl B3 e wRenfia R 9 IeH

T S 1986 | gReia e e @ 1-Sfrae dtan uiferh

o aftila it e FbR e & &F F Fia o @ AR

o star GfaEr & Sfaiid 6 TR it B 39 fefaw &

sfaeter foram < T @ 2 "
L) ﬂ&mzwmmaﬁmé‘wm@aﬁmaﬁ

I B THHET |

Answer any two questions :- 6 each
a) Insurable interest cannot be presumed from mere existence of
relationship, then how it exists on the life of wife and children ?
b)  Define the words (i) Consumer and (ii) Deficiency' in service as defined
under Consumer Protection Act, 1986. How nominee under life insurance
policy comes under purview of consumer and what types of deficiencies
under life insurance contract can be covered under the 'Act' ?
¢)  Explain the role of an agent on the basis of maxim 'Qui facit per alium
. perse'.

‘e ity wiferdt & sfia T geer fedemy i el U R T 12
fRAem 21’ T8 FoH H yHfa, TAl oA e & daf § gy Sk

AR T & @ ase F o gAY | B g Raeny AW W @

o stamRdt foaR w8, Iua ot fafe |

"Double Accident Benefit under a life insurance Policy is a benefit granted by 12
the insurer". Elucidate this statement with reference to its nature, Terms and
conditions and also state exclusions, if any ? Max Double Accident Benefit

Which a life insurer considers may also be furnished.

fora g, wifereftens Qe okt oiferdlt unal & foal & g w12
12002 ¥ v & sfta e fear yoreft & fral 3t F5R |

Sig HRY | fiwr s e T R Stam st st S

TESH W 3 &9 37 W Il R g |
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5
Critically examine, by prononcing regulations on point of sale; pblicyholders
servicing and grievance redressal procedure under heading protection of Policy
holders' interest Regulations, 2002, IRDA has made life insurance companies

more customer focussed ?

S wiee fovers’ =9 wgfava ‘@t |iar @1 9 o1 39 FUH |
eqd € 7 991 U SISl U fhd g T ST % SER W 41
T T T Gehell @ 7 3T Arpal A FrAAE H FQ SN AR ?

"Contract of Insurance is contract of good faith 'Uberrima Fides" - Do you
agree with this statement ? Can an insurer dictate a life insurance Contract on
the basis of a wrong declaration by the insured ? How do you justify the

action of the insurer ?

T sifaetaie 8 g fieft 8 % aafy uiferdtuns g fifty

@ 52 T R, @ dfw R gy 9@, g Raemy gia sifvena

) & et ?
TS g1 T, 98 G9ed 8¢ faran % qdf =fed g a&t # sig-vgaa

LR

sftar et g T Wl SRareft sterTashdie ® ARy S

qeufea/fam qeufed go <@, g geg <El & foe ai S € )
T AT H gl ¥ ww it @ 7

A complaint is received from policyholder that although the policyholder has

paid premiums why insurance company is not settling death claims including
accident benefit claims without delay ?

Prepare draft letter explaining why claim-investigation is carried under early
death claims. Spell out the requirements usually ¢alled by insurance company
for consideration of Early/Non early death claims, Accident death claims
explaining rationale behind the same.

AL -24
12

12

12

16

16
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Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. frafafad § | feet o9 = e - (9T o 4 37)
%) oI AN
q) ferarsfterar emala ema
M) I T
) EH gfshar g9 A

1. Discuss any three the following : 4 each
a) Target Costing.
b) Activity Based Costing.
¢) Budgeting.
d) Business Process re-engineering.

2. faafefen ¥ 8 fasdt ot o avfa &R (5elleh o 4 3(%)
%) HERS & TEE §R W G H AN
) IS ETU B TELES
) U TRt
¥) gHedr feaamy

2. Describe any three of the following : ‘ 4 each
a) Presumption of death on disappearance of life assured.
b) Non forefeiture clause
¢) Ex-gratia payment
d) Accident benefit.
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freafefan # | ot % 3w gaw § A - (Y& & 4 37,)
F) ‘B SR § A9 1 T 87
g) Yelas SRR @ e ST 87
) gl oiferh @ 3 Hew &7
¥) W U & 3iq § ydEs g iied sion w397 76 87

Answer briefly on three of the following : 4 each
a) What do you understand by 'Work Simplification'?

b) Advantages of Panel Interviews?

¢) Significance of Duplicate Policy?

d) Importance of Declaration at the end of the Proposal executed by the

insured?
frefaied § 8 feelt @ % S S - (9 % 6 %)
%) Al sftan aiforedt o wadf F sftwrepat eftwrafed g <@ & fveE

FH & B F 3F Jag TIE 87

) TS Staq star uiferdt 3 sfmia ey yamwn o7 fiem | 9 g
ek AT gt @ o Wb Sfd yaish faraw|
M) e Al R e asel s Stftifae & v eagE g

Answer any two of the following : ' 6 each
a) Why do insurers seek several documents before settling a premature claim
inrespect of individual Policy?
b) Compose suitable endorsement for dealing a Life Insurance Policy where
age proves to be higher when age proof is received?
¢) Explain features of Minimum Wages Act and Payment of Wages Act?

Tl & &1 I TRy (J3E & 6 1)
%) MRS THIOT e 3R ey gudor g

Q) wEfama dhar ol wrgent

) Y aeR i gsht aer

Distinguish between : (any two) 6 each
a)  Guaranteed Surrender Value and Special Surrender Value.

b) Conventional Insurance and Micro Insurance.

c) Capital Market and Money Market.
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(TAH * 6 3F)
ﬁmﬁr@aﬁ%ﬁ%ﬂ%ﬁaﬁmaﬁmﬁﬁmmw
A ¥ TART :
F) TXI-GEA

@) frwa &g o
M) STt yfafhare WUW TS

Discuss the importance of any two of the following in making business 6 each
communication fast and cost effective :

a)  Audioconferencing

b) Wide area net work

¢) Inter active voice response system.

"3 W fafqy doamed it ik S RSN H HeT BT 12~
39 WATTHR FSA Hi il T 309 queh smanft i oo 9 g

JHR =13 §Hd AT ?

Assesses the strengths and weaknesses of various structures of organization? 12

What according to you could be considered as a better structure of the
organization and how it is justified?

Sfter ftar & St e | F Y U eyl o § | AT gh - 12
9 3fed FAAN? T @ e aee g YA v R Al @R
T €, I |t I FRY

Inlife insurance, age of the person to be insured is an important factor. How do 12
you justify this? Also mention the various standard age proofs accepted by the
insurer?

STEH A 0 37 39 A 0 Hafe 0 g el & swesy 12
foepeg e €7 dftar S0 ST YT YR SUGH AT & o T

What is Gratuity liability? What are options available to employers to meet this 12
liability? Discuss the advantages of Group Gratuity Scheme offered by Insurance
Company.
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AL -25
16

W%Wwﬁummaﬁﬁaﬂmwahwﬁ‘m.

7 EavgHae ot STl ST Tre-fg R & SRl @ e
HRT i 3T T Fare Tl & sl

Marketing of life insurance is different from marketing of other products. In
view of the above statement, discuss the process for recruitment of insurance

16

marketing team and their training needs. Analyse the causes of high attrition

rate and suggest remedial measures.



o it vt AL-26
’ - Sftee ot e

ASSOCIATESHIP EXAMINATION
LIFE ASSURANCE FINANCE

T : 3 6e | [get 3fe : 100

Time: 3 Hours] | [Total Marks : 100

TRt o1 gvel & IR T | THaT v & 16 ik § foheg 9e atfeamd ad &
AA TN TRAR TFT 2 AFmH T |

Answer EIGHT questions only Question number TEN carries 16 marks but this is not
compulsory All other questlons carry 12 marks each.

- ~Marks
1. ﬁa‘??ﬁ-rsrwa'mﬁvr@q (3 % 4 37)
%) m@aﬁﬂﬁ{aquﬁaﬂw?
T) Tt % 9R YN & fawg 1 fafew |
) e AREa A9 W w@gy § v fafew |
¥) ST AUAET 1961 # 4R 115 &t S 4w 44 & grEauEn Hi
fafaq |

1. Answer any three questions: 4 each
a) What are the errors not disclosed by trial balance ?
b) Write about four methods of depreciation.
c)  Write short notes on Group Superannuation Scheme.
d) Discuss the provisions of Section 115 B and Section 44 of the Income-

tax Act, 1961.

2. TRl i e S e - (e & 4 37%)
®) wwwmﬁaﬁtaﬂaﬁmwﬁﬁrﬁwﬁ%@m
W) JEHH SR SR FH FR FARY |
) aRkes o el & A 3Ry § ?
o) Wmmﬁwmmﬂwé‘ﬂﬁ?fﬂﬁﬁ%ﬁﬂﬂﬁ
ﬁ@ql
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Answer any three questions: 4 each
a) * Describe NB Cost Ratio and Renewal Cost Ratio. -
b) Distinguish between provision and Reserve. ‘
¢) What are the objectives of Internal Audit ? ‘
d) Write about important elements of Administrative Control in a Computer
based System.

Tl i etan S frf - (5% & 437F)
F) woRH frer o 9 et Yy w9 8 9

q) @ A % R H T G T |

T) WA W G & He $ GAEET |

) mmw%ﬁwaﬁwﬁﬁmﬁmml

Answer any three questions: ‘ . 4each
a) What are the major steps involved in Budgetory Control ? o

b) Listdown the objectives of Accounting Standérds.

¢)  Write about the importances of Human Resources Accounting.

d) - Write a report on purpose and usefulness of Cash Flow Statement.

TRt 2t TvAis S T .- (T8 & 6 3F)
F) TH G B aRam AR i 7w o & sRvdl B TR |

Q) She At Frdt F wrgert g gt & g F 99§ Sas)

M) W % e S st w0 ¥ famy § ey |

Answer any two questions: ' 6 each
a)  Define Book Keeping and bring out the objectives of Book Keeping.

b)  Write briefly about valuation by Actuary in Life Insurance Company.

©) Describe about L writing back and Repudiation of claims.

Frferfan & @ frt & & o Rifwe ;. (w63
%) foefta favetoo =t el fter faftell ) woemew |
T)’ ﬁﬂﬁf@aa@maﬁsﬁﬁmaﬁmaﬁtmmﬁm@
) ST S
i) WU =Y I
(i) Y[E AT Ium
T ¥ fvetyor 3t el w989 § guemew |
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Answer the following : (any two) ‘ 6 each -
a) Explainany three methods of Financial Analysis. -

b) Explainutility of following ratios and write formulae.
i)  ConservationRatio
i) "Overall Expenses Ratio
i) NetProfit Ratio

¢)  Limitations of Trend Analysis- Explain in brief.

. R SR : (R ) (3% 6 3i%)
%) Taue R g ‘

T) ST A E 3R g2 A O

) ffEE wRr ek sEEiT 3R

¥) o =Y 3R fReiftad Is =

Distinguish Between : (any two) 6 each
a) Trial Balance and Balance Sheet.

b)  Error of commission and Error of ommission.

¢) Explain Previous Year and Assessment Year.

d) Revenue Expendlture and Deferred Revenue Expendlture

Wmm%mﬁmﬁmmﬁmaﬁsﬁﬁﬁam
R - (FAF F 2 3F)

i) ﬁr;mﬁwmaﬁ. } ®. 12,000 38R 7w

i) ¥ 8,000 H ITH G AfFT I § F=d 71T & %I ° fo@
e Foan de |

i) . T A o =R @ % o w. 5,000 feEe |

iv) mﬁéﬁ%@ﬂ@wmﬂmma 850

v) A9 T . f. we R @ w. 14,000 F I AW PrE &
w78, 12500ﬁﬁ|

Vi) . 80000w%wm2%aﬁatﬁaﬁ?ﬁwn§ql

Pass journal entries in the books of Shyam & Company with appropriate 2 each

narration : :

) Mr. Ram borrowed Rs. 12,000 from Shyam & Co.

i) Purchased fumiture worth Rs. 8,000 but wrongly entered in to Raw material
purchases. Please rectify.
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ii) Rs. 5,000 drawn by Mr Shyam for his personal use. |
iv) Provide rent payable to Land Lord Rs. 850
v) Received Rs. 12,500 from M/s ABC & Co. in full and final settlement
against the claim for Rs. 14,000 ~
vi) Provide depreciation @ 2% on Btiilding worth Rs. 80,000

wF EEEh % e Rifad del9e @ 39 AR TF ArE-gi @ 31 12
qﬁzoloﬁmﬁﬁmﬁaﬂ‘%mméaﬁwmﬂ@wm
F daIR FETE

(TR & )

oo T e =
3T Y TS 1,000 &R 3,900
WERT 3,500 fespa | 92,800
3TER 19,200 st | 32,700
TR 5,130
B 81,200
LSERY 7,200
IR 4,000
Tefae 3,000
g T 5,170 |

~1,29,400 1,29,400

) 3w (1 378d 2009 F TW I €. 400 @) 30 Ramr 2009
F &, 450 @@ § S 7m0 N Ry @ F it & ot

i) ITER W 10% ¥fa 79 =it @mse |

i) fasht %4 ®. 100 o %7 A # wfafe = fad ™

iv) fosrg 9@ ® €. 50 @ 1Y fer@ Ry @ |

v) WA ASEA Sowwﬁqﬁ@@ﬁﬁmaﬁna?wﬁ
& <ff wh

vi) 3q H HUSRUT H YeAIHA . 450061@1%%11W|Wﬁm
firrae €19 & FROT 38 99 R 7 6 9uere & 10% § FH W
e s |
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From the following Trial Balance of a trader you are required to prepare Trading 12
and Profit and Loss Account for the year ending 3 1st March 2010 and Balance
Sheet as on that date. -
(Rs. in lacs)

Particulars Dr. Particulars Cr.
Cash in Hand 1,000 Creditors 3,900
Stock 3,500 Sales 92,800
Debtors 19,200 Capital 32,700
Drawings 5,130 ' '

Purchases 81,200

Wages : 7,200

Furniture 4,000

Goodwill 3,000

General Expenses 5,170

1,29,400 1,29,400

D  Furniture (book value on April 1, 2009, Rs. 400 lacs) was sold on 30th
September 2009 for Rs. 450 lacs and passed through the Sales Book.

i) Depreciate furniture at 10% p.a.

i) Private purchase amounting to Rs. 100 lacs were passed through the
Purchases Day Book.

iv) Sales Book was overcast by Rs. 50 lacs.

v).  Wage outstanding Rs. 50 lacs, though included in the wages account, was

- notincluded in Trial Balance.

vi) Stock at the end was valued at Rs. 4,500 lacs. In view of the constant fall

in prices, it has been decided to write off stock by 10%.

F) % MW YA F fvg ¥ H@ew 7 ey | 4
@) A9 ‘TH W FA’ H AHS 5@ 8 &, 48,000 (AR) A 8
31.12.2010 = ST T4 § |
% fE H 3@ W FAEfaian i faE {3 |
& T feaTor T9RET |
) d% T E. 4soé‘§$gwqﬁﬁanﬁa‘ﬁﬂmuﬁrﬁa
5 9@ 7 7 At T
i) TE ARYER ¥ T E. 3800$rﬁf%fqﬁ=rﬁaamaﬂ
for T AR T g o Iwat wfare 4 &g |
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ii) fHFE T W &. 750wm§$mﬁﬁéwmﬁmw

A IR T ohe 9E A A gF |

iv) ®. 3,500 F 9% I B TR W I ¥ 762 ¢ F €. 5,300
fog f@ ™ |

v) S5 8w | _.2,,1_0035‘?%&"?!1“65?T@WMJZ.ZO]OW
S T ER.

vi) AEE T wE w3 ®. 2,500 € e we S % o
@[ A 15.12.2010 F 5\ W =23 |

9. a) Explaininbriefbank overdraft facility. 4
b) CashBook of M/s'X & Co.' shows balance of Rs. 48 000 (Dr.) ason 8
31.12.2010.

Scrutiny of Bank Statement showed followmg differences.

Prepare Bank Reconciliation Statement. ]

)  Bank charges of Rs. 450 debited by Bank but not recorded in Cash
Book.

i) Telephone bill paid by Bank on standing instructions for Rs. 3,800,
not recorded in Cash Book.

i) InterestonFixed Deposit Rs. 750 credited by Bank directly but not
booked in Cash Book.

iv) Cheque issued for Rs. 3,500 wrongly recorded in Cash Book as
Rs. 5,300

v)  Cheque deposited in Bank but not credited on 31.12.2010, for Rs.
12,100

vi) M/s Ram & Co. directly deposited Rs. 2,500 in the Bank A/c of X
& Co.on 15.12.2010.

10. 31.03.2011 & ¥ TYIRE Ht & ot @l § f= Rifad 9w 9 | 16
ST SISy 1938 gy it grey 7 3ifaq a@r TRY

(w92 000'H)
feramoT e T
. .
AT A 2,400
FH=RAT A 0 11,000

AR Y ‘ 22,200 -



ferawur s S
w. ®.
CURIE R 5,700 -
gl 29 | o ; 1,200
T INY 300 -
THE WE ok 9 3,400
T @ 6,200 -
gRagadr gmEn 16,500 -
Afrafst # sy 4,200 -
TSA aifdfeal 8q wiawe - 10,200
ity et () 90 -
TEyq =g 5,250 -
qgq ety Wity - 35,700
I 13,320 -
T g 25,400 -
= wfaqfaat | fafaasE 7,86,600 .
TS, IS TS e ; 56,050
Tiferd W T 11,000 - -
qEFH TR/ 8,000 -
Sftaq fafer - 7,05,200
ST -7 - 610
FHMAT A -TRYFdT ; 1,650
I THAT T@ T2 TR - 150
Tl st fast 9 oy - 300
Tiferelt ST O - 9,070
A wifEy - 90,700
qAstAr Wit (1) 310 -
aad 5,950 -
3 it - 20,000
fafyg aMeR 2,300 ° -
gudur 9,500 -
fafay s 1,210 -
e - 9,30,830 9,30,830
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| 8
ﬁﬂ%‘@ﬂmﬁ?aﬂﬁﬁ‘:-
) e SRl

- ITEEE §EiY
- 3T

i) IR TG FEEH FRT

iy 3TeNEA WE Wiy FUN I SR HRY
v) = fRfa Afe 3 7

v) YEYT % S 29

v) SISt IYEH

(€. 000" #)
w.

1,200

700

2,330

92

125

98

117

- Following Balances appearing in the Books of Sun Insurance Company as on
- on 31-03-2011. Prepare final accounts as per format prescribed under

Insurance Act 1938.
' (Rs. 000)
Particulars (Debit) (Credit)
Rs. Rs.
Advance Income Tax 2,400 E
Advances to Employees 11,000
Agents Balances 22,200 -
Annuities 5,700 -
Annuities due but unpaid- - 1,200
Bonus in cash 300 -
Cash and Bank Balance 3,400
Claims by Death 6,200 -
Claims by Maturity 16,500 -
. Commission to Agents 4,200 -
Consideration for Annuities granted ) - 10,200
Cash in transit (Insurance) 90 -
Expenses of Management 5,250 -
1st year Premium - 35,700
Furniture and Fixtures 3,320 -
House Property - 25,400 -
Investments in approved securities 7,86,600 -
Interest, Dividend and Rent _ 56,050
Loan on Policies 11,000 -
Loan on Mortgage 8,000 -
Life Fund : - 7,05,200
Outstanding Claims - Death - 610

AL -26

16 -



(Rs. 000)

Particulars (Debit) (Credit)
Rs. Rs.

Ontstanding Claims - Maturity - 1,650
Old Outstanding Claims written back - 150
Profit on sale of Assets - 300
Policy Deposits - 9,070
Renewal Premium - 90,700
Reinsurance Premium (Ceded) 310 -
Salaries 5,950 -
Share Capital - 20,000
Sundry Debtors 2,300 -
Surrenders 9,500 -
Sundry Deposits 1,210 -
Total : - 9,30,830 9,30,830

Following Adjustments are to be considered :- (Rs. 000"
) - Provide Depreciationon: Rs.
- House Property 1,200

- Furniture and Fixtures 700

i) Provide for Income Tax 2,330
i) Creat Reserve for Bad and Doubtful Debts 92
iv) Interest Accrued but not Due 125
v)  Outstanding Expenses of Management 98
vi)  Accrued Gratuity 117
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ASSOCIATESHIP EXAMINATION
HEALTH INSURANCE

T 362 ] - | [T 37 : 100

Time: 3 Hours] [Total Marks : 100

Torgl 3ms Uvt & IR AT | ot uew & 16 i & g @ stfvard T E
I At TR YT 12 AwmEH T :

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

1. Tt dfir 3 s R (m%r:qrﬁki
%) I IEE T &fayfe e B W FRT,

G) TR fafea giferdt wev § we Fifw,

M) AR 7 S ST % R W R R Rk,

¥) 9RA ¥ e 3@ 3 o s fafy e 2, ==t S
1. Answer any three: ‘ 4 each

a)  Explain high deductible hospital indemnity cover.
b)  Briefly explain overseas medical policy. ,
)  Write short notes on the origin of insurance industry in India.
d) Govemment funding of healthcare in India is limited. Discuss.

2. Tl dftwr 3 s RRYT (IS & 4 3F)
¥) YA A g Sk e e FiRm,
g) T H IR HAA TS A TR,
M 3‘@%?&6%%&6&@@«%@&@%@
) Wmmﬁqﬁqﬁwﬁm

2. Answer any three : 4 each
a)  Explain stop loss cover in reinsurance.
b) Give afew factors which affect morbidity.
¢)  Write short notes on ESIS and CGHS.
d)  Briefly explain Hospital Indemnity Policy.
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& o9 & S| R . | (T o 4 37%)
F) AW AR W YR @y Ao T = @ ?

@) e StA it w39 % 91y gedr 8. W Rryged ik

To & fore ifem sarr e &, 4 2 |
) TR «ftar gara | gfing ot i,

) AAR Y Aeadh (ie) W EiRn == S,

Answer any three : 4 each
a)  Why is group health insurance generally cheaper?
b) Health insurance premium usually increase with age. But the premium for
babies and young kids is higher. Why?
¢)  Write a brief note on Health Insurance Portability?
d) Briefly discuss Preferred Provider Network? (PPN)

Tl 2 & S| f=RRYT (TF & 6 3F)

F) e A § S e iR S gfE HAde $9 q aaEt.

T) Fadd gerder uiye 3w ¥ W g vee & o @ - o=
HIfTC.

) AR FeeT 3R wReA dfter Wiy 3 e o B W= FT,

Answer any two : 6 each
a)  Giveafew factors which influence product pricing in health insurance.
b)  Universal health care is provided by governments in western countries.

Discuss.
¢)  Distinguish between personal accident and health insurance policies.
&t S =1 3| R  (TIFH 6 )

%) HuerEd ¥ g i 1gf #t we S
@) ‘gaftar e 1 aref = d 9
) iR SfEr @ = Er @ 9

Answer any two : 6 each
a)  Explain numerical rating method in underwriting.

b) Whatis meant by uberrima fidei?

¢) Whatis meant by critical illness benefit?
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Tl S =1 3 RAE | (FIF ¥ 6 3(F)

F) WREATMF FMATE ?

@) T g9 QAT uiert w8 9

M) fueE ® TEE B GHRT,

Answer any two: - 6each -
a) What are the advantages of health insurance? ‘
b) Whatis Health Savings Account Policy?

c) Write about the need for underwriting.

Wwaﬁmm(m@a&a@wéaﬁtmﬁg&nwﬁ% 12 each
e TIRT. .

What is Rashtriya Swasthya Blma Yojna (RSBY) Scheme and suggest waysto 12 each
lmprove it.

mmm%‘mmwéﬁ.mmﬁaﬁqﬁm 12 each
2 HHa § ?

You are designing a pollcy for senior citizens. What will be the exclusions inthe 12 each
pollcy?

ﬁam/aﬁwﬂqwmaﬁnﬁmwmﬁﬂﬁé‘ 12 cach
Wﬁ?ﬂﬁq

. The regulator/[RDA plays avery unportant role in the health insurance Industry 12 each

Comment,

mﬁwé?wmﬁﬁﬁumﬁu}@mﬁm 16each.
aﬁﬁqaﬁw%mﬁu}@uﬁsﬁaﬁﬁaﬁa‘mﬁq@m
F17?

Wﬁat is fraud? Explain the various types of fraud in health insurance and the 16 each
counter measures that you would take to prevent fraud?
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ASSOCIATESHIP EXAMINATION
FOUNDATION OF ACTURIAL SCIENCE

Time: 3 Hours] [Total Marks : 100

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks

1. Mr. Sharma has purchased 50% books from shop one, 30% books from shop 4 each

two and 20% books from shop three. If 5% books from shop one are wrong,

6% books from shop two are wrong and 15% books from shop three are

wrong, what is the probability that a wrong book comes from

a) Shop No. one

b) Shop No. two

¢) Shop No. three

d) Draw atree diagram of wrong books.

Answer any three of the above.

" 2. Abag contains 3 red balls, 4 black balls and 5 white balls. If two balls are 4 each
drawn at random from the bag, find the probability that :

a) both are white

b) oneisblack and the other white

c) oneisblack and the other is red and

d) onered and other white.

Answer any three of the above.

3. Define any three of the following : 4 each
a) Immediate annuity certain '
b) Deferred immediate annuity certain
c) Deferred annuity certain due
d) Lifeannuity
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What are the points to be borne in mind in deciding : 6 each
a) Period of Investigation '
b) Period of Selection
¢) Method to be used for the investigation.

Answer any two of the above.

Aloan of Rs. 2,000 is repayable by a level annuity-certain, payable annually in 6 each
arrear for eighteen years. The amount of the annual repayment is calculated on

the basis of an effective annual interest rate of 10% for the first six years and

9% thereafter. Find :

a) the amount of the annual repayment.

b) the amount of capital contained in the fourth repayment

c) theamount of capital contained in the twelfth repayment.

Answer any two of the above. °

Give name and commutation functions for present values for following 6 each
- expressions : [any two of the following of (a), (b) and (c)]

) D Am i) A7
b ) (A) .4 D i
9 D oax i) (fa) .7

D  Calculate the time in days for Rs. 3,600 to accumulate to Rs. 4,000 at : 6 each
a) asimple rate of interest of 6% per annum.
b) acompound rate of interest of 6% per annum convertible quarterly
¢) acompound rate of interest of 6% per annum convertible monthly.

Given:/n(1.015)=0.015 In(10/9)=0.1054 In(1.005)=0.005

i)  Sunil deposited the following amounts in his bank account :
On 1* Jan 2008 Rs. 1,000
On 1* July 2008 Rs. 2,000
On 31* Oct. 2008  Rs. 1,500.
The bank declared the following compound interest rates for its accounts:
1 Jan 2008 to 31% Dec. 2008 6% p.a. payable half yearly
1* Jan 2009 to 31* Dec. 2009 4% p.a. payable monthly
~ 1*Jan 2010 to till date 5% p.a.
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Sunil wants to close his accounts as on 30% Sept., 2010. How much money
will he receive on 30* September, 2010?

Given: (1.05)/12=1,0373 (1.03)1/3 = 1.0099
The actuarial base for Immediate Annuity certain policies are :
Interest : 6% p.a. effective.
Expenses : ¥2% of purchase price and
14% of annuity installment.

A person purchases a policy for Rs. 1000 p.a. payable yearly in arrears for 10
years certain. He is subject to tax @ 30% of the interest portions of the annuity
installments. Calculate his total tax liabilities relatmg to the first four years of
annuity installments.

What is the accumulated value of a 5 year annuity of 1 per annum in arrears
payable monthly increasing at 10% p.a. each year ? The interest rate assumed
is 8% p.a. convertible half yearly.

=1.0368 -

Given: S(l—zl)
i)  Proveby general reasoning :
ds)al = Gqx1-n) /i
i) Pfove by general reasoning that
1=V+ijay
iii) Prove algebraically that
k‘cim + (Ia) T = (k-1) am+ (I8) 1] where k is an integer.

~-~THE END---—

-28

12

12
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ASSOCIATESHIP EXAMINATION
GENERAL INSURANCE UNDERWRITING

g 36e ] [ 37 : 100

Time: 3 Hours] [Total Marks : 100

Tt 3nTs uvAl o St T | Swat 99 & 16 3t € Teheg g e =i €1
At g U 12 SR | |

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Mark
| PrafoRer 7 @ Rt 9 b s AR (e 5 4 579)

%) dwred & dod 7 diAeied & TeE S W Sy |

®) R o § G oo’ =y # auia F o g @A
fafEu|

) ‘wiuRer SR AT iy S wew @ a=

9) wg Afeaad diW & Hey ¥ ‘eya Eia & iy’ S awen
WL FIT

1. Attempt any three of the following: 4 each
a) Explain the importance of underwriting from the perspective of an insurer.
b) Describe “Loss Ratio” method of forming rates and mention its limitations.
c) Discuss the importance of ‘Retention and Reinsurance’ Strategy.
d) Explain the concept of ‘Experience Rating’ in respect of Group Mediclaim
Insurance.

| (TEF & 4 3F)
2. {4 8 39 giRaett stareiEd @ Tefadl % aR § 19 3 g § i
3% Y L A I =Ry ? (@iE i & s i)
%) e S MM
T) IR S A9
) YU AFHM HT D
) STHT GIUT S G
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How do you think underwriting errors occur due to the following andhowto 4 each

overcome them: (Answer any three)
a) Pricecalculation

b) Exposure measurement

¢) Faulty information collection

d) Coverage Structuring

. »ﬁwﬁ@aﬁ@ﬁ%‘faﬁ%maﬁﬁq: (I & 4 ()

%) Henphoal & fou gd ey i S w@ arg e &
IRATT #1 7ed TaRT|
w) ffafe v & T FiRT |
) S IW FA I
i) =T I
i) W I
) iR & Al % W 3 Suratell # SR | fFE TMar
3R AR € U g ey efved fafafde gedtson ==t
HITAT
u) Wi & I wlex a1 gemeft/aon ffaial # e | o
HIAT |

.- Attempt any three of the following:

a) Mention important Underwriting measures while issuing All Risk Policy
for works of Art.

b) Explain the following terms
D  Netincurred Loss Ratio
i)  ExpenseRatio
ii) Combined Ratio

¢) Discuss the mandatory Disclosures stipulated by IRDA to Insurers for
protecting Policy holders’ interests.

d) Explain the need for Floater and Declaration policies for stocks.

4 each

frfafad 7 9 faedt &t & S R (97 % 6 37%)

%) IS MYUR W TRgq EeR Fd T97 & dtHeied & qRar
T W HC '
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@) IRAT IER ¥ W d | TET FY SIHE Hves % TR W
IR F Wy == HI
T) TEE HH & e W = S

Answer any two of the following: 6 each
a) Mention the underwriting measures while accepting a risk on a sub-
standard basis.
b) Discuss the type of Deductibles commonly used in Indian market with
examples.
¢) Discuss the importance of Proposal Form.

mmﬁﬁw%maﬁqﬁmﬁﬁ%?(mﬁﬁ%waﬁqﬁ .
F) T ARG HE (e % 6 37%)

) fued & fufd w e w@

What do you think are the reasons for: (Answer any two): 6 each
a) Havingre-underwriting

b) Preparing product proposals

¢) Monitoring underwriting decisions

freferen & @ fedt @ & sw @R (53 2 6 3e)

F) d% TUICH TR-3AY F ARG (Y o Geha ot Scqrel Bt g
T 3 37 FoTT wed Wt <X it wgf A e S

§) Huree oEr el F qgd B We S|

M) WYH FEEE & TE e 37 T gaiid B gHg Hib-Hiaet
Q= TEHRET At St & 9

Answer any two of the following: 6 each
a) Develop alist of products that can be distributed through Bank Assurance
- tieup and explain the rating methodology most suited.
b) Explain the importance of Underwriting Audit
¢) What are the general informations provided to head office while making
referrals for acceptance?
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Tiferetamet o fadl o HW 8 Waﬁtuaﬁ’ﬁrmﬁaﬁﬁ
TR @ T HIC

“ Explain the measures prescribed under File and Use guidelines in protecting

Policy holders interests.

g Sfaw’ 71 S0 TR ¢ | T Y TR HEHd § 7 THh el
R T4 FSC |

The word “All risk” is a misnomer. Do you agree? Bring out the perils of the
same.

ﬁﬁﬁmmm%ww%'?

What are the benefits of technology based underwriting?

w2t it sftar s o T furerae i SR w8 o W @i
T 8 | 3 A€ I IR FW & [ AL AR |

You have been consulted to prepare an underwriting policy for anewly formed
insurance company? Draft a note to be presented to its Board.

12

12

12

12

12

12

16

16
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ASSOCIATESHIP EXAMINATION

GENERAL INSURANCE ACCOUNTS PREPARATION AND
REGULATION OF INVESTMENT

T : 3 6e | - | - [%e 3 : 100

Time: 3 Hours] ' [Total Marks : 100

Mmmé‘waﬁﬁmmmﬁ‘léwﬁﬁﬂwmqﬁ%l
IA U TRH IIT 12 IFH &

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

.. Marks
1. f=fafes ar g9+ 4 @ flt o= & s R (IR % 4 3i)

%) “ferita SRR SR Ik TR A SegH AW FI adH I A
fereftar e, srfvretam, affanor, witredtetor, frvetyor we ot e
F 2. 39 FI H GHIT,

@) oar fanl & R S fafa. |

M) T A % T 1,00,000 9% Wi 39 SRR AW FAF F. 100
& quid: 311 6 gU 9. w3 39 SIRmE ofe W uw whRy
H AR S T F T 10 TG F gt oivh A ®. 2 9h
{97 yuia: 37y faam gam it W 33 &1 fofy R, st T
fo1. & @ml o sHa yfafeal weh 2.

) aﬁmﬁamﬁmagﬁﬁaﬂﬁ(ﬁ@@a@qﬂw)ﬁamzoozw
TeH & 6 fRregt, Tor @i, Wi Td S @ e -
G 37 W T g g I e & S ER et dwr w5
FTE EM fHerg 39 S At § afvla €, &9 § #9 &9 o
Akl 1 AT S W st e e #F @ A .

1. Answer any three of the following four questions 4 each
a)  “Financial Accounting is the process of recording, classifying, smnmanzmg
analyzing & interpreting the financial transactions & communicating the
results thereof to the interested parties” Justify the statement.
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b) Discuss the objectives of Accounting Policies

c) X Ltd had 100,000 9% Redeemable Preference shares of Rs. 100
each fully paid. The company decided to redeem these pref. shares at
par by issue of sufficient number of equity shares of Rs.10 each ata
premium of Rs. 2 per share as fully paid-up. You are required to pass
necessary journal entry in the books of X Ltd.

d) TheIRDA (Accounts and Audit) Regulations 2002 provides that the
Balance Sheet, Revenue Account, Receipts and Payments Accounts
and Profit & Loss Account shall be in conformity with all accounting
standards issued by the ICAI except those specified in the regulations.
Specify at least ten Accounting standards applicable to General Insurance
financial accounting, :

‘ (I % 4 )

frafifad # ) feredi i 3t aRerfem SRy ot v & e

37) s gsht

) S IeF W Ifdwe

%) A s
g) Yfoeiw &uE

Define and calculate formula for any three of the following : 4 each
a)  Working Capital

b) - Return on Net Worth

¢) Combined Ratio

d) Earning pershare

foreeY oftT % we A (1 % 4 )
) G UES || % TG WEuE =41 € ?

T) T TH 3R TH-4 & 0T SR,
%) o & oy 3T A Fo 2
T) UH i woht S e Raid & s g 27

Answer any three: 4 each

a) Whatare the major provisions of Accounting Standard 11?

b) Describe features of IFRS 4.

¢) What are Advantages and limitations of Accounting?

d) Whatare the contents of an Annual Report of an insurance company?
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(I & 6 3fah)
F) - YFATAT Yo 3 oreror 47 § 9
@) 93 @m g
R UGN
1.1.2001 ¥ 31.12.2001 T T oIGT fFaR0y
LR ikl Skl
qeEE Y gfafe 80000
TR g1 gfafe 100000
Plitp 340000
FHHIE ~ 51000
&l F:r RRGIC] 154000
X 17000
TRt Witrm o 136000
T g1 o 90000
Teffaredted st 23 9y 72000
CAL | 520000 520000

Ol SR - HATET HHAH, il B A, Ted a ST
FAET = 5% B W @ g 20% F W F AT FHeE R

TMUHET HiRT,

Answer any two from the following :

a)  What are the features of Non-propertional Reinsurance Arrangements?
b) Fromthe account given below :

Currency Rs.

Statement of Account for the period 1.1.2001 to 31.12.2001

Details Debit Credit
Portfolio Premium Entry 80000
Portfolio Loss Entry 100000
Premium 340000
Commission 51000
Claims Paid 154000
Taxes » 17000
Portfolio Premium Withdrawn 136000

6 each
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Portfolio Loss Withdrawn 90000
Balance due to Reinsurers 72000
Total 520000 520000

Calculate - Earned Premium , Incurred Claims, Incurred Claim Ratio

‘ Work out Profit Commission @ 20% considering Management Expenses

@ 5%. from the above data.

. Fel S et % S AR (IR ® 6 3()

%)

faeferfian forawol & ot o ok S 3K gaifar STl &t o
T 20% HIt 39 gEgiar st et &, 9 3t e SR,
33, | 200987 F. 90,00,000 o 3frham sror & feC gam,
T,

i) ﬁﬁ'ﬂq?{l%

i) fifim iy w. soooooof%mﬁa 44,00,000 I =T &,

i) e T E. 1,10,000 Rrad @@ ®. 1000 F H 2.

iv) e TR E. 6,00,00,000 FEHd @ ®. 6,00,000 F 2.

3T et st et & e aE@R 2. 2009-10 & denfaes oar

wliem g oTE, AR, &, U, g i s fsm & 9 R

T W O TS G S s A, e aget, amt
W 2. T TWE & oG WeH F TS & A 98 F {5 S+

g A oMus! Hed SEN o1 g9 g § AFlEs & 8, 3

T faeqa fewolt ST Red o o & v gl @ 3we 8
ﬁvﬁaﬂqaﬁmﬁ@mﬁwnﬂmﬁﬁmﬁmmﬁ%
STTH T k.

) Wi &t A

i) T ageh

i) @ @ A

v) SHHITH =T

T dtar et # wifreftares (R & g e § 7 e eRe
it A F 0T H TH 32T ST,



‘5.

a)

b)

)

%)

Q)
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Attempt any two options : : 6 each

From the following particulars calculate retention and reinsurance cessions
ina20% quota share treaty entered into by insurer PY with reinsurer RI
for 2009 with max. cession Rs.90,00,000:

D Premiumrate 1%

i)  Suminsured of Rs.50,00,000 with claim of Rs. 44,00,000.

i) Suminsured of Rs. 110,00,000 with claim Rs. 1,000 only

v)  Sum insured of Rs.600,00,000 with claim Rs. 6,00,000

You are Regional Accountant of an Insurance company. In 2009-10 the
Statutory Auditors have made a series of qualifications on violation of
Accounting Principles as prescribed by IRDA in respect of Recognition
of Premium, Acquisition of Costs, Claims. To avoid such audit qualifications
nextyear, you are required to guide Divisional Accountants in regard to
above aspects. Prepare a detailed note prescribing IRDA principles in
respect of following aspects to guide your divisional accountants.

I. . Recognition of Premium,

II  Acquisition of Costs

III' Claims Costs

IV Commission Expenses

What are the main constituents of policyholders’ funds in insurance
company? Show an example on computation of policyholders’ funds

frfafed 67 gea 7 9 fdt €t 3 s AR (T 6 )

A widt | T g & 2 weidt & g S & Ry 9
ﬁﬁmﬁ%wmﬁw.@wwmﬁ‘
gt G & S T @ =Ry 2

T # A wile sk wie & el R 3 SR ®
2007-08 X 2008-09 & &6t 3 fordt it 3 wefterdt @ T,

i) mﬁﬁzwﬂﬁﬁﬁﬁwa‘q(mﬁmr@)ﬁfﬁw

W @15% ¥fa a9 w=eidt ot & |
i) Telle S TR @ SR A 1.4.2007 B E. 46,00,000 .
i) 1 7 2005 F R T Wi S E. 2,00,000 F @l = off
fore 1T . 10,000 1 w19 =79 g1 o, 3 WF geen &
1.9.2007 % I8 & T & . T@He & oy § el @
HHEISH G F ST G B % @i H e 7 o “qw
STANE T . @ yTees i q@” % @ A A A L
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v) TF gE WA ®. 5,00,000 # @i T ek 1.7.2008 H

®. 25,000 % T & o TR, sHe e & vl | e
. ® 3ooooomw172008aﬁmwa?tﬁﬂ
T W 2009 # B T

TS Hefi ST 2.4.2006 & E. 300000ﬁ@ﬁa°rm°}(ww
= &, 15,000), 38 31 37T 2009 F &. 3,60,000 ¥ 3=
feam T,

) feelta el & Wiy § yee oft denfe o wer % St
I HeT § AT,

Answer any two of the following three questions

What do youmean by depreciation? What are the objectives of providing
depreciation? Mention various methods of charging depreciation. Why
should an insurer/underwriter have knowledge of depreciation accounting?
Show Plant & Machinery Account as it would appear in the books for

a)

e

©)

two years 2007-08 and 2008-09, on the basis of following particulars of

plant & machinery of ABC Ltd;

D
)

i)

v)

It charges Depreciation on Plant & Machinery under WDV method
@15% per year.

Opening Balance of Plant & Machinery as on 1-4-2007 was Rs.

46, 00,000,

Machinery purchased for Rs. 200,000 and installed on 1 May 2005

with installation charges of Rs. 10000 was fully destroyed in an
accident on 01.09.07. The accidental loss determined after adjustment
of depreciation for the period of use is debited to “Insurance Claim
Receivable from Bharat Insurance Co. Ltd A/c”

Another machinery purchased for Rs.5,00,000 was installed with
of Rs. 25000 on 1.7.08. The payment was made in two installments
- Rs. 300000 was paid on 1.7.08 and the balance was paid in May
2009.

A Machinery purchased on 2" April 2006 for Rs. 300000
(installation charges Rs. 15000) was disposed off for Rs. 360000
on 31% Auglst 2009.

Discuss in brief the responsibilities of the management and the statutory
auditors in respect of financial statements.

6 each
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7. " ofl. o, $vEE 1. % W 1 suier 2000 F . 2,00,000 3 9% 12

U HHR FT 7 (R & 0@ e &. 100 ¥9%) €. 1,90,000 ¥ 9,

3 qs‘2009ﬁ'~a‘rmm=ﬁﬁmﬂw%mwﬁmg@-t@

. 80,000 =1 ®. 95 (%) = Wled @R, | 7 2009 F &, 60,000

qT-E & 0 W ®. 94 (YE) = W a9 f23). 30 S 31l 31

fadaR it g% a8 07 W sma fobar o ottt 4% T S woT

€. 10,000 w9 49 W =& WRd S 3

31 71 2004 F FIT B AR T 95 1. 01.03.2010 & FH F

®. 10,000 q@-qea 35 301 W &. 95 = e o7 23, |

sﬁ.aqﬁgvzﬁ%qf%f.a%@m?'m%wrfram(zow)@maq‘zow-

10 % foTC ST, yorm & yerw fafy w2y ght ot S R @ T

%ﬁﬁrwu@maﬁﬁmmmwugﬁﬁ%ﬁmﬁ,mm

S AT fFean ST A1 I9F T00F | 5 e,

7. M/S G.IInsurance Ltd. held on 1 April, 2009 Rs.2,00,000 of 9 % State 12

Government Loan (2009) at Rs. 1,90,000 (face value of Loan Rs.100 each). :
On 31* May, 2009 the insurance company purchased the same Govt. Loan

of the face value of Rs.80,000 at Rs.95 (net) cum-interest. On 1% June 2009
Rs.60,000 face value of the loan was sold at Rs.94 (net) ex-interest. Interest

on the loan was paid each year on 30 June and 31 December and was

credited by the bank on the same loan Rs. 10,000 at par ex-interest. The

market price of the loan on 31% March, 2004 was 95. On 01 .03,2010, the
company sold Rs. 10,000 face value of loan at Rs.95 ex-interest.

Draw up the 9% Govt. Loan (2009) Account in the books of G, I. Insurance
Ltd for the year 2009-10. First in first out method shall be allowed and the
balance of the Loan held by the company shall be valued at total average cost
or market price whichever is lower. Calculation shall be made to the nearest
rupee or multiple there of .
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8. T mied f. & =R qur a9-gIA W SIET. 12

31.03.2010 =1 dEUL,
YR JUSTOT 30000000
R 2400000
RG] 1700000
PERE D) © 500000
fortra it 600000
miea & 75000000
AU O @-1Gre 250000
fasteft g9R 1200000
CERCICCE] 12000000
AR 13500000
m & 7500000

- ITER 3000000
FEd TS g 300000
[EIERIEE] 6000000
eI e 30000000
BET 1000000
dh 1200000
AT (SEHRRT) 700000
fafag = 150000
ECE 25000000
fashy 95000000
s gsft 30000000
e 168500000 168500000
W’Cﬁm :

1. I TEY - 9 3R 997 @ 5%, W T @ 10% FAT Ta-
A @ 15% T At $R TE ITEH @ 20%

2. 3ifa¥ HUSRUT H 4 &. 52500000
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3. W3R BN W TRV H WEHH FRT @ 2%, |
4. FIEYH @ 30% 3N Y T e THUE @ 5% FT 8.
5, ﬁﬁw%mmﬁmmrﬁéw&%mwﬁﬁaz
FIS H g1 1 B
6. Thmammmwsfrzoloaasm*@2sooosrﬁm'a'aqa’rMWé.

Prepare Trading and Profit and Loss Account of Moving Motors Ltd. 12

Trial Balance as on 31.03.2010 . o
~ Details : Debit Rs. CreditRs.

Opening Stock 30000000

Wages ' 2400000

Salaries | - 1700000

Administration Expenses 500000

Rent and Taxes 600000

Purchase of Vehicles 75000000

Repairs and maintenance _ 250000

Electricity Charges 1200000

Land and building 12000000

Creditors 13500000

Showroom : 7500000

Furniture and fixtures 3000000

Office appliances 300000

Investments ' 6000000

Term Loan 30000000

Cash 1000000

Bank 1200000

Motor Cars (Business purpose) 700000

Sundry Expenses 150000

Debtors 25000000

Sales ‘ 95000000

Share Capital : 30000000

Total ' 168500000 168500000

Adjustments :

1. Provide Depreciation on Land and building @ 5%, showroom @ 10% Office
Appliances @ 15% and Motor Cars & furniture and fixtures @ 20%
2. Closing Stock is valued at Rs. 52500000.



aiE
1.4.2010
31.08.2010
31.12.2010

31.03.2011
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3. Providereserve for doubtful debts @ 2%.

4. Provision for Taxation @ 30% and Provision for Dividend @ 5% on
capital to be made.

5. The Company is litigating a case against the vendor, which if it losses the
compensation of Rs.2 crores is payable.

6. Rent for godown is paid up to 30th June 2010 for Rs.25000 per month.

frefefiad =R # S gafeal a9y S /R I g @,
it T HRE G o9 T I @ # A S TGk

Terawar
5000 FEER 4 T &, 1000 ¥OF F TR RAR 12%
yftad aiffs &9 § 37 o ot ST 31.12.2020, & E.
1100 ¥f% 59 7 % few@ § wfwss &4 ¢
%9 g3 | 5% 31 qed | 1000 54 73 39 23 ™.
TiwER & = off fem |
T e 25% A e W 500 §9 o a9 I A
Tee. ,
IR & R 9o ®. 98 U &9 03 & foua § &9 &
7 2. A Ay & SER dY T RO TS A o HROT
TH oGl A R G 2. et w1 ifem fies
T 3 dY 77 it FafY T fEEaid T =

Journalise following transactions and calculate profit/loss if any to be
transferred to P&L A/c.

Date

1.4.2010

31.08.2010

31.12.2010

31.03.2011

Details
Purchased 5000 Government Bonds of Rs.1000 each carrying
coupon rate of 12% p.a. payable yearly, maturing on
31.12.2020, at the price of Rs.1100 per Bond.
Sold 1000 bonds for the price of 5% above purchase price.
Also received interest from the purchaser.
Sold 500 bonds for the price of 25% more than the Face value
& received interest.
As per market, the price has reduced to Rs.98 per bond. As
per accounting policy bonds being debt instruments need to be
accounted at the cost. Also in case of any premium, the same

need to be amortised over the life of the bond period.

12

12
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10. A TIEE I STIRY FIT fo1, %mﬁ%ﬁnﬁﬁwﬁrﬁgﬁm 16
¥ R 31.3.2010 B gl a9 8. |
T 9 - T v

‘ w. 10 &g ® w®. 10 @ d
SIRC R EC R il 1,000 Srafatfdr =i : |
T G % SFTAR A SR 10,122 T gfqft 13,609
T & forT oy ud g | F 9 1,026 Flty efu 46,156
fafereis smeor 10 famftg o W 2,352
foraaft fafmmr smmeagor 5 fardtar Sreaqef gsft 90
3 g fafawa @ 39,665 3MYURYA GL&AT TF --
I - e &F ffEeE 5,776
FAA ST =T fafesH 2,453
3fehel 3 281 SruTafdr faf= s ; |
T <ftar FHeOfE - &R gfpfoal 2,367
@l 27 Uy 2,362 Sl & 319 816
3w gt difiem 483 MUY HI& TF --
TR 4,945 QIS & f%rﬁa?m 146
T TE (36,162) 28,091 SHUT :
YTE FE Td TT THR 739
AT SREH & foIu s - 3% wd fadtg g 15
Unexpired Risks 14,267 3ﬁ%ﬁﬁl¥ ~37=b'l3'qT 1,689

YA ararer 2 250 3T 2,642
A feoT % 2 35 TITS WEAlS
HETUE T 9 (16,552) 2,000 T FEE G

& I 27,57,000

TS & 9

it 18,59,000

IS TGI8 898

qAA T

THE T A U 12,010

3m i 3 gofEt 10,950

fafay =9 ofueied T 18,34
104,542 104,542
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-10. From the following data collected from books of accounts of Moonlight General 16
Insurance Company Ltd you are required to prepare Balance Sheet as at 31*

March 2010;
Credit Balances Debit Balances
Rs, in ten lac Rs. in ten lac
Issued & Paid-up Capital 1,000 Long Term Investments:
General Reserve asperlastA/c 10,122 Govt. Securities 13,609
Balance in P&LA/C forthe year 1,026 Corporate Shares ‘ 46,156
Investment Reserve 10 Corporate Debentures 2,352
Foreign Exchange Reserve 5 Corporate Venture Capital 90
Fair Value Exchange Account 39,665 Infrastructure &
Borrowings Nil Social Sector Invest 5,776
Current Liabilities: Other Investments ‘ 2,453
Agents’ Balance 281 Short-Term Investments:
Balance dueto-- Govt. Securities 2,367
other insurance Co 2,362 Shares In Companies 816
Premium Received InAdvance 483 Infrastructure &Social --
Sundry Creditors 4,945 Sector Invest ‘ 146
Outstanding Claims (36,162) 28,091 Loans:
Provisions: Central & State Governments 739
For Reserves for - Banks & Financial Institutions 15
Unexpired Risks 14,267 Industrial undertakings 1,689
For Proposed Dividends 250 Others 2,642

For Dividend Distribution Tax 35 Fixed Assets:
For Doubtful Debts (16,552) 2,000 Gross Block after
adjustment 27,57,000

Depreciation
after Adjustment 18,59,000

Net Block 898
- Current Assets:

Cash & Bank Balances 12,010

Advances and Other Assets 10,950

Misc. Exp. Not Written Off 1,834

1,04,542 1,04,542
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ASSOCIATESHIP EXAMINATION
FOUNDATION OF CASUALTY SCIENCE

Time: 3 Hours) ' [Total Marks : 100
Answer EIGHT questions only. Question number TEN carries 16 marks but this is not

compulsory. All other questions carry 12 marks each.

1. Answer any three of the four sub questions:
a) What are the goals of Individual risk rating?
b)  What are the attributes of good individual risk rating system?
¢) Define Experiencerating?
d) Listthe three criterion of Credibility which must be met?

2. Distinguish between the following terms:- -

‘ a) Allocated loss adjustment and unallocated loss adjustment.
b) Premium written and premium earned.
¢) Incurred but not reported claims and reported but not settled claims.
d) Deterministic simulation and sto¢hastic simulation.

3. Answer any three of the four sub questions:
a) Definerisk and the different types of risks?
b) WhatisRisk financing?
¢)  What are the characteristics of an ideally insurable exposure?
d) Whatis the meaning of Exposure Avoidance?

4.  Describe any two of the following criteria's for selecting rating variables.
a) Actuarial Criteria
b) Operational Criteria
c) Social Criteria

5. a) Explainindetail how a Balance sheet and Income Statement of a General
Insurance Company is related.
b) Derive therelationship between pure premium and Loss ratio methods of
rate making, explaining clearly the components of the formula.
¢) Identify four adjustments made to historical Losses in projecting losses for
a future policy period for ratemaking. Briefly describe the purpose of each.

Marks
4 each

3each

4 each

6 each

4 each
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a)
b)
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Discuss three purposes of exclusions in insurance policies.

The appropriate level of risk based surplus is based on various sources of
risk faced by an insurance company. Identify and briefly describe four
suth sources of risk.

Given the following information:

An insurer issues a crop protection policy on 01/01/2011 for the 2011
crop season. The policy premium is Rs. 12000. The insurer estimates that
60% of the loss exposure occurs during the crop harvest and sale in
October and November, with the remainder spread evenly across ten
growing seasons, which runs from April 16 through September 30. Under
adeferra!-matching accounting paradigm, calculate the required unearned
premium =serve iG: fiis policy as of June 30, 2011.

Describe the steps to be taken for designing an individual rating system.

List the possible rating factors of a single private passenger automobile insurance
policy. Also fumnish the possible reasons for including each of the factors listed.

Answer any two of the three sub questions:

a)
b)

)

List 12 rating factors which may be used to calculate the premium of
Personal Motor Insurance.

List 12 rating factors which may be used to calculate the premium of
Commercial Fire Insurance.

Describe the sources of insurance profit.

The table below shows the cumulative claims incurred in a particular class of
insurance policies, subdivided by accident year and development year. The
total claims paid by the end of the year 2011 are Rs. 23.9 lakhs.

Cumulative claims incurred (in Rs. ’000)

_ Development Year
Year of accident 0 1 2 3
2008 480 542 576 590
2009 500 565 602
2010 568 644
2011 - 550

Using the triangular method, estimate the outstanding claim reserve as at 31
December 2011.

--—THE END---

4 each

12

12

6‘each ‘

16
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ASSOCIATESHIP EXAMINATION
FIRE HAZARDS OF SPECIFIC INDUSTRIES

T 3 6e | [ 3 : 100

Time: 3 Hours] [Total Marks : 100

TRt o1Ts Toat & et ST | SHaT U9 & 16 3tk & ToReg org otforamdd =i 1
At yRm U 12 AF S R |

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Mark

. P  § et ot SR R a1 A BT (4 o)

) Gher |
q)  FehATBT

CF) TR EA
¥) Tt @ wHits W H SR

1. Describe any three of the following short notes: «~ 4each
a) Spreading ’
b) Vulcanising
¢) Rubberreclaiming
d) Production of natural rubber from latex.
_ , _ (FAF & 4 3F)
2. frfafed § 9 faat ot | & 21 emu=istl &1 quiq S
3) URS FET
) Aed AT

%) dTH B

g) I Fe

2. Answer any three of the following statements: 4 each
a) Firehazard in powder coating.
b) Firehazard in metal cleaning
¢) Firehazard in vacuum furnaces.
d) Heattransfer
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Aefafad feat T W forfay . (T & 4 31)
) T IUT F T T F @R A 2 ? |
9) = I & FEVEET G F A 7 weha A F e
Fft G S =Ry ?
&) =G I F & A F FE TR 330 3 2
¥) = U A R YIS 98 31 B BRoT e e § 7

Write any three of the following : 4 each
a) What are the hazards of Withering Section of Tea Industry?
b) What precautions are to be taken to avoid fire losses in Drying/Firing
section of tea factory?
¢) What are the hazards arising out of construction of structures in tea
factories?
d) How does Electrical installations cause fire in tea industry?

fomfefan fonel & W St Ruftiar fara (5 6 37)
3) A R afR: e e

d) THE YO

%) S HishaT

Answer any two of the following short notes: ‘ 6 each

a) Blow-down and effluent disposal
b) Unit Operation
¢)  Unit process

fAefafad 8 9 et @ W gt frwfr fafae (I % 6 37h)
3T) = o fAfs e § AT MU |

q) &S fAEior Af¥E Jur 9f¥E =ife @i 31fF R |

&) HOTH ST F Fea AT & HSROT F A AT |

Answer any two of the following short notes: 6 each
a) Firehazard in blow and mixing room.

b) Firehazard in paper manufacturing machines and machine block.

c) Firehazards in storage of raw materials in paper mill.
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10.
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frfefas ferlt @ W fafaw (T % 6 3(F)

) I FREH & Fmior § @i auiT S |

q) Fied T F1 IHT FREE § Ge HSRe qiwd WSHE Wi
3MYETT FATT |

%) fafEn rRed ok fafem aftean o 1 e |

Answer any two of the following

a) Explain the hazards of construction in tea factories.

b) Explain the hazards in storage including open storage in cotton ginning
and pressing factories.

c) Firehazard in weaving preparatory and weaving process.

G- | i STvRr e g Tha™ & I geal W T R |

Mention fire hazards and loss prevention measures recommended in spray
painting.

6T I Sl HYR MEW F AT & FHOT HIG & ?
What are the causes of Fire in cotton godowns under Textile Industry.

Wmﬁww%mwmmﬁaﬁwmﬂmm
2 33T FaW HE 87

What are the fire/loss prevention steps to be taken in case of indoor and outdoor

storage of waste Paper for Paper Industry?

S I & frmfor faam & At suare qur e Ahur 3T &
TIER == ST |

Explain the fire hazard and loss prevention measures recommended in
manufacturing department of jute industries.

6 each

12

12

12

12

12

12

16

16
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ASSOCIATESHIP EXAMINATION |
‘GENERAL FIRE HAZARDS

T ;362 ] o | (T e : 100

Time: 3 Hours] ‘ R : ~ [Total Marks: 100

ﬁﬁ?muﬁ%mﬁmlmm%mm%mwaﬁww%l
IT AN TR U 2 AHHRE | ‘

Answer EIGHT questions only. Question number TEN carries 16 marks bﬁt thlS is not
~ compulsory. All other questions carry 12 marks each.

. - o ... Marks
1. ffafed R i W fafae . . (ga}aqéwm)
) faemie F8 ?
) mm&mﬁwaﬁrﬁm
%) T gfety &1 Aaeld F 8 ?

g) WIgeR Wi § g W ﬁ*rf@z |

1. Answeranythreeofthefollowmg . .. .. .- - . Adeach
a) Whatisexplosion? . ‘ ' -
- b) Explain the meaning of implosion
¢) Whatdoes fire resistance mean? ,
d) Write anoteon economlser in boﬂer plant" o

2 ﬁ“’%‘@“ﬁﬁﬁﬁwm{ S (EEFas)
37) afaeR H U TUF 3 BT S A IR @it @ 2
) aﬁﬂ@mﬁwﬁﬁaﬁmwmﬁﬁ@ﬁz@ﬁ%wﬁ;ﬁév
ED) wmwa%m?ﬁamanhﬁml S s

2., Write any threeof the following: . . = ... - N i .. 4each
a) How does storage of fuel in Boﬂers glve rise to F ire hazards” ' } 7
b) ~What types of situations causes Boiler furnace explosion?
¢) Describe the component units of boiler Installation.
d) Whatis the function of an Economizer in the Boiler Installation?
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. Frefafen el ot w fafac (T % 4 3()

) AT T A TR FHNC | A7 R F 0 HD e 2 0

q) RV WER Fhe S A F @ F i gl @ e
FATT |

&) ﬁfﬁam%aﬁ%maﬁa&rwml

%) ﬂﬂmmaﬁﬁtrwww"ﬂawﬁﬁmé7

erte any three of the followmg 4 each
a)  Whatis the meaning of “‘Fire Load"*? How is Fire Load Calculated?
b) Give the classification of the National Fire Code of India on ﬁre resistance

of Buildings.

©)  State the fire hazards of different types of roofing materials.
d) How does intermediate floor contribute to exposure hazards?

frfafea fredt 2t w Rk (3 % 6 i)
3) u@aﬁqumwﬁmﬁ%ﬁawww
F |
q) T Al G Ao Faga e wggift e e we &) |
%) Af AURTT T 37 3aReh &g 359 § UFHATT &7 a0 FIRT |

Answer any two of the followmg 6 each
~a) Distinguish between origlnatlng fire hazards and contributory fire hazards.
b) Explain power transmission by fluid power and associated fire hazard.
c) Describe fire hazards and their preventions in internal combustlon
engmes

orefrf ol 2 0 Ry (1 % 6 37%)
) seitfie sy § B0 oavEE TEET ¥ S A wRe 0
) ﬁaﬁaﬁwmwaﬂwwmﬁaﬁq@ﬁwmﬁﬁ
27
T). mwmﬁﬁaﬁ@ﬁaﬁé?sﬁ@mﬁﬁmwmﬁ
AN ?
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Write any two of the following: - ' 6each

a) - What are the precautionary measures required to be taken in Industrial
furnaces/ovens?

b) What are the preventive steps adopted for the processes of Quench tank
and Salt baths?

¢)  Which are the hazards of heat transfer systems? How will you prevent
such hazards?

frmfafes o &t W fofeam : (T & 6 3(h)
3) IR qAT ITh! STYSTA HT AU HIAC |

9) FEGIHEA U IHH TR WL RO |

&) 9l F R |

Answer any two of the following; : 6 each
a) Describe acids and their hazards. '

b) Explainhydrocarbons and their hazards.

¢) Hazards of Metals.

WWW%W@MW!@%@WW% 12
TRIH | FI9 82 ufed 6 SUh 98 TRy |

State the factors to be considered for identification of exposure hazardtoany - 12
building / occupation located near a chemical manufacturing unit.

Wmﬁmm%wwﬁmm%ﬁm% BRY:
T FEH I3 =@RY? ’

-“Mention the Precautlonary steps to reduce spontaneous combustion in Coal 12
stocks in Boiler Risks.

Wmﬁmﬁf@ﬂaﬁaﬁqaﬂmwzﬂ%mﬁﬁaﬁw 12
& gEEr | =9 SR | |

.Explain the fire hazards and the loss preventlon measures recommended for 12
centrally air conditioned building.
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10. fA=fafad & sk 9RdA oumolwrﬁ | A & e W=

FRM | (frdll =X W fafe) : (W o 4 &%)
) TSt YA

i) TS AT HT geahieRu

i) S8 I I Sl auT FaRT

iv) gt wefaerT qer g

"v) T AT SUHUN H} e

10.

Discuss how.far you can contribute té mmnmze losses in the Indian Situatioh by 4each
taking recourse to the following: (any four)
)  Goodhousekeeping

") Segregation of hazardous areas
i) Proper layout and arrangement of premises ,

iv)  Effective supervision and training
V)  Provision of adequate Fire Fighting Equipment.
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’ TR ST 3R

ASSOCIATESHIP EXAMINATION
FIRE INSURANCE UNDERWRITING

T 36T ‘ [ 3 : 100
Time: 3 Hours] ’ _ [Total Marks : 100
TRt 313 gyl o St AT | Twal u9T % 16 m%%u‘gmﬁaﬁqﬁ%n
IR IRHE I 2 AT HE |

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
 (TRE 4 3F)
1. ﬁwﬁ@waﬁaﬂwﬁwwﬁaﬁmmmmﬁmaﬁ
FHIfTC
F) @d: |
) S &l I
M) - 3YharE e
g) e &t gy e

1. Descrtibe the cover and mention the exclusions of any three. " 4each
a) Spontaneous combustion
b) Forestfire
¢) . Terrorist cover
d) Lossofrent clause.

2. TrfafEd e we 3 | (T & 3 3)
F) T gt Ry ' ‘
9) 9§ 9@
) HiRr 1 am
¥) Wi Hed a1 STeR e
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* Explainthe following withexample: = 3each
a) Local Authority Clause. ' ‘

b) Escalation Clause.

c¢) Contract Price Clause.

d) Book valuc/ and Market value.

| e R R Rl R (3% 3 3 37%)
%) Tigers At afy . |

@) aﬁzaﬁaﬁmaﬁ@rﬁ?

M) e For HgH FHR

u) WK Y Ag

.. Write short notes on the following : 3 each

a) Spoilage Material Damage

b) Deterioration of stocks in cold storage
c) Leakage and Contamination Cover

d) Startup Expenses.

A 7 @ feredflt & o1 3 fafan (I & 6 37h)
%) Sifew frdew Rid § #0 Teesl 78 el @ 87 ,

) aﬁqmaﬁmﬁm7ﬁ”ﬁm€ra¢m”€rﬁ%ﬁﬁq@
 yeyE R T §? :

T) HeAEY FA H AN I w4 87

Attempt any two : ‘ 6 each
a) Whatare the silent points involved in the risk inspection report? '
b)  What are the provisions under condition No 7 of flre policy which deal
- with "Right of insurer"?
c) What aye the special conditions in mid term cover?

7 9 feredt & & S fafae . (FEEH 6 )
%) @ °ed 89 % a8 SRS & HAG FA 87 |
W) Yo MEvas 41 27 §9h ©: SR [y |
) foErEE v T AR T St
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5. Attemptany two: 6 each
a) What are the duties of insured at the time after occurrence of the loss?
b) Why endorsement is necessary? Narrate six reasons.
)  Explainsilent features of arbitration conditions.
6. 7 @ el @ & S faifau . : (I & 6 37F)
%) R Sitgq w1 87
©) A A0 uiferdt &t 3 dw 9 g8y § wHgmRw
T gEAmeh giferh # wiE greHE 87
6. Attempt any two: 6 each
a) What are the listed risks?
b) Briefly explain condition No. 9 of standard fire policy.
¢) What are the provisions under declaration policy?
7. 30 TYH & G 11 & e d-Fofoed siawt 6t e s 12
7. Listout Non-manufacturing risks mentioned under Section I1I of Fire Tariff. 12
8. duET Wi & I e 12
8.  Give the examples of Insurable Property. 12
9. “aft UYeh W ¥ A A T A W IW WA TgWA 12
IR T Al
9.  "Fire Tariff does not allow selection of Risk" Discuss this statement with two 12
examples.
10. 3 yw@ gy § aﬁﬁm SR H foFIR ¥ 90 g 39 W fewfoal 16
fefEu |
10. List out detail information required in fire proposal form and comments on it. 16
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ASSOCIATESHIP EXAMINATION
CONSEQUENTIAL LOSS (FIRE) INSURANCE

g 3ue ]’ [T 3R : 100

Time: 3 Hours] / [Total Marks : 100

ol oTTe goA1 o S €T | gaat 99 & 16 m%ﬁﬁgﬂaﬁaﬁ'—rﬁ%l
I WM yRAHR YT 12 AR R R

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks

1. Tl it W dfera Rwftnrf R : (W o 4 37%)
&) Wt §9R
) I e
M) Hhd A9

¥) g et

1. Write brief notes on any three: 4 each
a) Standing charges ' ' ’
b) Rentreceivable
¢) Gross profit
d) Indemnity period.

2. frferdia @ fHRYT : (Reedt o) . - (TAH S 4 3)
3) Wi & adt Fors - »
¥) THRSA FAS
%) fowrfta sets
T) oa wies e s

2. Explain the following : (any thxee) B 4 each
a) Return of premium Clause
b) Adjustment Clause
. ¢) Departmental Clause
d) Auditors fees Clause.
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wﬁmmmm%wﬁaﬁmﬁmmmw
fehetiT : ; . (mmm)
%) dfiwpa Wt
T) THd A
T) WS AR
¥) aiffe e

In preparation of Final loss assessment under consequential loss policy, what 3 each
purpose is served by the followmg

a)  Sum Insured

b) Qross Profit

¢) Standard Turnover

d) Annual Turnover.

Tl &t & 3w R (IAF % 6 i)
%) uRord e dtwr wiRel & ofwfa sl el omeRa & 27
) ‘IUxd, geald IR gAlaAe afd fiwr e & Sfaria suEsa W
dfera feuoft i)
M) fAfdE Tt 7uR

Attempt any two : ‘ 6 each
a) What are the losses not covered under the consequential loss policy ?

b) Brief note on exclusion inriot, strike and malicious damage clause.

¢) Whatare unspecified standing charges ?

frferdia T T (TR S 4 30F)
F) ‘wfqfd ey F@ 87, W & R
q) T gl STaf 1 T Fia g & MR R fFar e 7

) B Y g gRemd B i @ e SiwT T @ 87

Explain the following : ‘ 4 each
a) Whatis Indemnity Period ? ’
~b) Whatare the factors to be considered while selet:tmg a proper Indermnty
Period? :
c) Whax arethe factors influencing underwriting of consequenﬂal loss policy?



10

10.

3 ‘ AG -55
F) FUE ifEd, A IRYS RaT 5 87 (FF & 4 3F)

g) =auE Aifgw A RS SifaT & R 32T AT |
M gRemef il st ety @ fafor A F R Wsﬁﬁgﬁ
3R ‘TR SifEw 1 fa=R 59 @e far s &9

a) Whatis "Interruption Hazard" and Inception Hazard ?

b) Give four examples of Interruption and Inception Hazards.

¢)  Explain how "Inception Hazard and Interruption Hazards" are taken into
-.account in an‘iving at the rate of premium under consequential loss policy.

TR @ TR wgl F waelt o 27 Ik 07 oK A W fhsfw

What is "Dual basis wages method"? Explain merits and demerits of it.

mmmm%mmm%mﬁmmm
gfsean &1 quig A

Descrlbe the process of loss assessment adopted by surveyor under
consequential loss i insurance policy. -

wﬁmﬁaﬁﬁaﬁmm%wﬁ“mﬁ”%wm%aﬁw

ARy

What are the duties of the Insured on happening of "damage" as set out in

Conditions of consequential loss policy?

mmﬁmmé?mmwmﬁml

Oni mtlmatlon of claimin consequentlal loss insurance policy, what are the steps
to be taken by insurer? Narrate claim computation in general.

4 each

12

12

12
12

12

16

16
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ASSOCIATESHIP EXAMINATION
FIRE INSURANCE CLAIMS

wwgi3Ee] I - g?ram 100
Time: 3 Hours] . N o [Total Marks : 100
Waﬁwﬁé‘waﬁlﬁlmm%lém%mwww%l

: IFAM yRwm g 2 SF FE

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.” = - -

1 Rt o e 3 s fora - o (m&“ﬁl:)

%) ot e | G Rl R | ,

¥) ‘“Touey i ﬁmﬁmwmﬁ@wﬁﬁm

T) W& T A AT S g areafad geared R S A
aTEdfaeh diferhl aT Wewrqut 94t 87

) mﬁﬁwmﬁﬁmimmwé?

1. Answer any three questions : '  4each
a)  Write a short note on Insurance Ombudsman.
b) Whatdo you mean by "Ejusdem generis" rule? Explam
¢)  Why physical verification or physical inventory is an important part of loss
assessment by the Suveryor ?
d) What are the primary duties of a Surveyor in the process of Loss
Assessment‘7

2. ﬁ?-%‘f?ﬁ'—rma“wﬁf@q S (T ¥ 4 3i)
F) A afy oEsT AR ;w7
) Waﬁqamﬁﬁﬂmmwﬁrmﬁ@ﬁz/mwﬁwﬁr
T& BT gIar et 82
) Waﬁqwﬁﬁqmmﬁiﬁﬁaﬁqﬁmﬁ?lomoﬁ
AMYF B W Avala 3 st § wm%mmﬁﬁﬁﬂ
m@ﬁaq%&nwﬁ"



AG -56
E{) maﬁqwﬁﬁﬂrmm%mﬁﬁ “forera Siftam’ sTvasil
mmmm| |

Answer any three questlons C g 4 each
a) What s Terrorism Damage Exclusion Warranty ?
b) Which are the losses excluded under Explosion/Implosion cover under
Standard Fire and Special Perils Policy?
- ¢)  Which properties are excluded for more than Rs. 10,000 under Standard
_ Fire and Special Perils Policy unless expressly stated in the policy ?
d) Write ashort note on."Electrical Risk" exclusion under Standard Fire and
Special Perils Policy.

Ter=gt o= 73+t & S fafae  (IEF & 4 )
%) STHFAE e TRV % sfwta Qe A WA 3k s T 87
q) meﬁmmm%mwmﬁﬁaﬂm
R dfera fewuft fafay |
T) T Fooder | S B & e § wg At frw aar €7
) WWH&TWMW%W ‘anfee’ W iR
feuuft fafEw |

Answer any three questions : o " 4 each

a) What are the limits of liability and excess under Terrorism Damage
Cover?

b) Write a short note on Earthquake add-on cover under Standard Fireand
Special Perils Policy.

¢) What are the broad guidelines for handling losses arlslng out of
Sponteneous Combustion ?

d) Write a short note on 'Excess’ under Standard F1re and Spe01al Perils
Pollcy

ﬁwmﬁfsﬁf@m:(ﬁﬂ‘fﬁ): (AT H6 )
%) vafauia & gomeft . , | :

@) FAE e I

T arfear
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Discuss the following : (any two) - © o ' 6 each
a)  Arbitration procedure. : ‘ ‘
b) Prorata Condition of Average
¢) Warranties.

ﬁmﬁf@ammﬁﬁm(ﬁa&a}) - (m%ém)
%) el (SgE) o A-wmt et I
@) afaqfd T 3y dud

M) ORI T S

Describe the following : (any two). 6 each
a) - Concurrent and Non-concurrent Policies. ’ '

b) Indemnity and its limitations.

¢) Reinstatement Value Clause.

- feredt S aEAt & IW e - o (I & 6 3(F)
%) WA & IoF B JHRAG HAaTe TS 1 § 7 IR AR |

©) oA (9 @t 3w ggfar = g 7

) A I ¥ e R gRefer fhar S @ 2

Answer any two questions : : 6 each
a) Whatare the factors influencing the value of salvage ? Give examples.

b) What are the usual methods of disposal of salvage ?

¢) Onwhatdepreciation is calculated under Fire Claims ?

A 3rET (o g1 T™ & e fem & 9T | | @d & ifaw - 12
fAger @ HiA-HTEt Hramar #t T 8 ?

State the action to be taken by the Fire Claim Department from the time of 12
receipt of the Claim Intimation to the final settlement of the Claim.

Waﬁr{awﬁﬁﬂmﬁfﬁiﬁﬁ‘m’?ﬁwﬁwﬁﬁﬁﬁ 12
Wmﬁmmaﬁqaﬁﬁﬁmﬁmﬁﬁmm
% IR § I2EWH T 9 IHGH AT -
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10.
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State the important ingradients in the definition of 'Fire' under Standard Fire
and Special Perils Policy and state the incidental losses covered within scope
of fire. Explain with the help of examples. ‘

eIt SR o o e faem & 9 fRdeen 3R |
What are the Rules for Construction of Policies ? Explain.

el wiferft it weitex wifert # qerT F gu A % THEAe
T el W gaheT ST |

Compare and contrast the features of a Declaration policy and a Floater -

Policy?

12

12

12

16
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ASSOCIATESHIP EXAMINATION
FIRE & CONSEQUENTIAL LOSS INSURANCE

U : 36 | - [T 3% : 100

Time: 3 Hours] [Total Marks : 10Q

ﬁﬁﬁmméawaﬁwmmé'mm%ﬁﬁwmqﬁ%l
i TRw T 12AF R R |

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
~compulsory. All other questions carry 12 marks each.

Marks
1w feomft fafa (g ) 7 (Wl F 4 3)
F) @R -
@) g H TIE FdA
) oy &
) gl (Z %) & e & i o o

1. Write short notes (any three) : 4 each
a) Insurable Interest
b) Surveyor's primary duties
¢) Micro Insurance
d) Fireinsurance in U. K. Market.

(TR F 4 3F)
2. el Geur 3 Al (Te-aifv) fawarl 3 o9 & W W HifST
- @)

%) A & Q) Aol g
T) SMfhFe BIE ¥)

2. Distinguish between original coveragé and add on extension (any three) : 4 each
a) ImpactDamage b) Debrisremoval

c) Architects fees d) Earthquake.



7 = e FY (WE &)
F) HUfd 98 AW FAlS

g) o @R %

) =T g i

¥) Weas

State the following : (any three)

a) Designation of property Clause.

b) Without prejudice.
¢) Contract Price Insurance
d) Salvage.

ot =1 wEiEy ST (Y /) ¢
) FE BH

T) ¥ qRada & o gt
M) SifEw e fRuie

Draft the following (any two)
a) Proposal form

b) Endorsements for change of address.

¢) RiskInspection Report. -

foret 3 dfte & o A W 3R (@ D)
F) it eHenEt ST A T
T) 3T TR F sfaifa sifverd sfveea ik Wies sivmed

AG -57
(T0H & 4 3()

4.each

(AT F 6 3®)

6 each

(T0H & 6 )

) sfturehdl g diferet s e w S StAeRs g Uit ®t

AT &

Distinguish between (any two) :-

a) Annual Turnover and Standard Turnover
b) Compulsory deductibles and voluntary deductibles under AR

6 each

c) Cancellation of Policy by the Insurer and cancellation of policy by the.

Insured.



. ' | 3 - AG-57
e W ==t ST (@ ) ¢ (39 % 6 3)
F) YBihd
9) e H S
) amﬁmf%wﬁmﬁm

Discuss the following (any two) : 6 each
a) - Endorsement :

b) Onus of proof

c) Damage to suppliers Premises.

mqﬁwwwmmaﬁﬁﬂ@mmmmm 12
mﬁémmﬁmwwmm?ﬁa‘maﬁt

THHM! I fRyds faveyor S |

What is your opinion, whether the fire tariff system be reintroduced or present 12
detariff system is to continue. Analyse fully the advantage and dlsadvantage of
both.

ST T - ®, 1598 12
Hohel Y - ®, 20 7@
faeftg e - ®. 809
T AR - € 80 @@
¥ AR | - ®. 80 @
&rﬁm%faaaf%ra\sa’hmz:faﬁat - ®. 30 W@
faRex =17 - ¥. 2 a9
i Wl g | s - ®. 25,000 .
iferst & dgd <9 & IR F T HRE | |
Sum Insured | - 'Rs.15lacs , 12
Gross Profit : - Rs.20lacs -
Financial year Turnover - Rs. 801acs
- Standard Turnover - Rs. 80 lacs

Annual Turnover ‘ - Rs. 80 lacs.



10.

10.

4 AG -57

Tumover during indemnity period - Rs.301acs
Additional Expenditure - Rs. 2 lacs
Saving in Insured Standing Charges - Rs. 25,000

Calculate the loss payable under the policy.

-9 € 3 Pt b 35 et 5 o < e Rk 1 s
wmmm%mmwwmv

- IRDAhas opened the doors for the Private Sector Insurers. How it will effect

the business of Nationalised Insurance Companies.

RO wIRY W % siwe B @ 3 E 2

Losses which are not payable under consequential loss Policy.

12

16

16
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ASSOCIATESHIP EXAMINATION
CARGO LOSS PREVENTION

O : 3 6 ] N (et i : 100

Time: 3 Hours] " [Total Marks : 100

Tl 21re o=t & e €T | THat Uv % 16 3k & TR I atfrard 7@l #
I WM AR YT 12 AF H T |

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks

g ST s o a4 et e ot s (T % 4 %)
%) SRS @ FE-gg I GE

T) IEES e

M) &M & Rl

¥) T 8 I waneat

1. Explain the following types of Maritime crimes (any three) " 4each
a)  Scuttling of ships.
b) Documentary Frauds
c) Cargo Thefts
d) Frauds in connection with charters

(T ¥ 4 57)
2. memﬁ&mﬂmmﬁmwﬁm

ﬁaﬁgﬁrﬁmmm@wﬁﬁﬁwéﬂﬁmﬁﬁqﬁﬁ
AfedftdR s el d o §:

%) I3 URAT H & el

@) I W AR HEW

) ‘R IR FT SR

u) 93 9T § 3 o
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To ascertain the actual shortage in bulk cargo is one of the crucial problemas 4 each
per port and customs procedures. What are the problems in relation to (any
three)

a)  Liquid cargo in bulk

b) FCL containers

¢) LCL containers

d) Drybulkcargo

frfafan & @ el i R Ot feweft g (TAF & 4 3F)
%) TTUARTE Tob ST (IBC’s)

W) Jeg 3SR & WA (ODC’s)

M) FTEIES g 3% T $TERE qUMI)

¥) IRE-3MET HN

Write short notes on any three of the following: 4 each
a) Intermediate Bulk containers (IBC’s)

b) Over Dimension Consignments (ODC’s)

¢) International Union of Marine Insurance (IUMI)

d) Shutout Cargo

frfafan 4 / Tt @ W dfar fewoft forg (T & 6 37)
%) IRESTE FITN Feliots & avta SIHURS & ¥ Fdd § 7

) FTHIEA AieRy =

WIS E IR CUE N e

Write short notes on (any two) : 6 each
a) What are the details of assured under institute Cargo Clauses ?

b) International Meritime Bureau

c) Carriage of Goods by Sea Act (COGSA)

frfafaa 4 @ feslt @ ef/afoal = 67 Sl g &% f3an s
qEAE (FAE & 6 3()
F) HER @R

T) FHON @

M) AT A @ G-
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6 each

5. . By what measures following loss / damage can be reduced (write any two)
a) Container Sweat
b) Cargo Sweat
¢) Rough handling of goods.

6. T & # H&iv § qwemg | (I & 6 31)

%) detiaor au iRt
@) Wih-foae gl 1 qURE 3Tan
) awa?ﬁu?@m@‘?

6. Briefly explain (any two)
a) Palletising and Unitising
b) Safe use of Fork Lift Truck
¢) Documentary Fraud

7. Y S TR 8 et Wl 9 A o & @ e/ 0 %
o s RN it =0 gt s ke 2

7. What precautions should consignee take in order to control/minimise loss or
damage to goods in transit by rail?

8. FA f& FER | AT dean G9G 1R Rueh! &l a1 Graen=4ai sa-t
=T ?

8. State the precautions to be observed by shippers in stowing the goods in a
container.

9. ‘“‘HRM g # YHaw T v F e, ﬁmwmm
&l TgrE e 87 gfaer g9 |

9. "Cargo loss prevention help insurers, insured and the natlonal economy"
Elaborate.

10. WA R T F G HRA B G 1ot T THR St aferar =1 € ?

6 each

12

12

12
12

12

12
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10. What are the principal types of damages to cargo during storage aboard ship. 16
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ASSOCIATESHIP EXAMINATION
COMMERCIAL GEOGRAPHY

R : 3 6 | [t 3k : 100

Time: 3 Hours] [Total Marks : 100

ot o1re yat o SR T | gwaT yva & 16 3fk € Tenmg ag erforard =@ §1
FAT AWt yRH YVT 12 3 F H #

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. Tt 7 w 9fra Rufnf fafat (9l & 4 )
3) aRTS Jd & Teags & 7 qweg agdtar | ’
d) aN & A yER
%) GRUA
3) HEEIIE e

1. Write short notes on any three : 4 each
a)  Three common methods in the study of Economic Geography. '
b) Different kinds of Stars.
¢) Salinity
d) Occean Current.

2. Tmfafad 7 @ fe=fl 9 W et feogeft v ;- (T & 4 3(F)
3) WA WA F A 3R 3G § gl
J) SIS & R TR
F) GRAF =g rufaad 1882
g) ume fEfaay 1940

2. Give your comments on the following on any three: 4 each
a) Precautions when loading and unloading Liquid Commodities.
b) Differentkinds of Ports.
¢) IndianTrust Act 1882.
d) Arbitration Act, 1940.



2

 Pifeiad @ Rl T w1 st e &

3) T T 3T ,
) a@mwaﬁém
F) oA qU1 N -
<) I T AR

Distinguish between any three of the followmg
a) Asteroids and Satellites.
b) Major and Minor Ports. -
~¢) Liners and Tramps
d) Parallels and Meridians

%ﬁwﬁwﬁmﬁvfﬁaﬁ
3 T-T

q) T SeEnt

%) agHenH uleagd

Write notes on any two :
a) Ro-Ro

b) National waterway.
¢) Multimodal transport.

frfafad & & feregl S W 219t Jeio7 feffa
3) Wwéﬁﬁﬁ%"

) q%mwé? |

%) WRUA T e 7 W g oed @ 7

Make your observations on any two of the following :
a) How are ocean currents caused ?

b) Whatis meant by a hinterland ?

¢) Whatis the effect of Salinity on shipping routes ?

AG -62
(e 3 4 31%)

4 each

(A & 6 1)

6 each

(e 6 37%)

6 each



10.

10.

3 | AG -62
Freferan # 9 Fredlt @t 3 sfivr ore R - (3 3 6 %)

3) USET qY1 TREIEH §SUTR
q) T & &l gaRr
%) fafma o

Bring out the role of : (any two)

a) Rotterdam and Amsterdam Ports.
b) Different kinds of Brokers.

¢) Bill of Exchange.

RO S T 3T%aT 3P anforaes Tfafafrl & 9 yifaa &L
g7

How does a Stable Government and good Governance influence Commercial
activities ?

AT d0ME | AU 99 78 89 & SR Saet |

The facilities at Indian Ports are not adequate. State the reason(s)

T T B AT A ok W R A e R o @ g 9

TR & FI8 THET T[T 3 787 8

Which documents are presented by the master of the ship before a vessel is
allowed to enter and berth in a harbour?.

WY e AT & Winifers, ToRfie a9 e ned w1 o 3, au |

TG Wt (AT BT YA T & T AT FHT |

Give an account of the geographical, political and economic significance of the
Suez Canel and compare the role of the Suez with that of the Panama Canal.

6 each

12

12

12

12

12

16

16
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T FArS=
ASSOCIATESHIP EXAMINATION
MARINE CLAUSES
T : 3 HeE | [t 3ih : 100
Time: 3 Hours] [Total Marks : 100
Ter=gl a1T3 gt & I T | Twat U9 o 16 3ieh & ey T arfrard Tt § |

I A yRAFH YT 12w H E | |
Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each. :

P ST SCASE g G SRR PN g e Sp————
aﬁamw&m%mmﬁmaﬁé  aAwEad)
F) M FR AT F=AS
) FiteoT Foais
) FE FAS

¥)  BEA-AHAT FAS

1. What is the purpose and for what types of Cargoes are (any three) of the 4each -
following Clauses used :
a) Pairand Set Clause
b) Replacement Clause
¢) Cutting Clause
d) Garlding Clause ?

2. 3RS A FANT (W) 1.10.83 & f=fafad yaum & 9 Ret
LiE ko (W & 4 i)
&) I »
) At s
) glayfd =t A

¥) W TG



2 AG -63
Discuss any three of the following provisions under Institute Time Clauses 4 each
(Freight) 1.10.83 :
a) Franchise
b) Bottom Treatment
¢) -Measure of Indemnity *
d) Freight Collision.

TRt o7 W Ot fewoft ford @ (T8 & 4 37)
%) U i A:Ye AR
q) e st
) o . . (©), o, . W@, () T o, &t <. (W) F Fara
T F A A § R
T) “Fivs wis’ (SRR IR WS TR Fiss ded Z5d
1.1.87)

Write short notes on any three: 4 each
a) Free on Board Shipments '
b) Rejection Insurance
c) 'Change of destination after discharge' under ICC (A), ICC (B) and
ICC (C) :
'd) "Detainment Clause” (Institute War and Strikes Clauses Containers - Time
1.1.87).

. fafafag & 9 et & aedl it e &R (Il & 6 37)
%) o A W g 1.10.83 Ft TR ¥R

) ey v (R|AE) T S e 8

) IReeE T HHIA FAS 1.8.1997.

Explain any two of the following Clauses : 6 each
a) Termination Clause of I. T. C. Hulls 1.10.1983.

b) Transit Clause of Inland Transit (Rail/Road) Clause 'A’

¢) Institute Classification Clause 1.8.1997.



]

3 : AG -63
frafafaa # | fRl St & ofmia oasi+l BT Sead@ & : (T o 6 3(H)
F) sfeege afec Farsist 1.1.1985
@) IS N FASS TRA - 1.1.87
) IRESTE T FASS

Mention the Exclusions under any two of the following : 6 each
a) Institute Yacht Clauses 1.1.1985 '
b) Institute Container Clauses - Time 1.1.87

¢) Institute Coal Clauses.

IR IR WU R Fll oS 8 - 2180 1.10.83 & garet | fAfaid

Jra W T W (R ) (3% 3 6 )
%) IMmERa Jifaw

q) Tyasiq

M) qHf

With reference to the Institute War and Strikes Clauses - Hulls - Time 1.10.83, 6 each
discuss the following provisions : (any two)

a) Perils Clauses.

b) Exclusions

¢) Termination

YRR a1 % 69 goR $Reege From Farss €, ‘@ aur T 12
3y & GHE a1gar e § |

Describe in what manner the Institute Cargo Clauses 'C', 'B' and 'A' are similar 12
or different.

3ReSE FN FARS & HAT aTeS Ud & eIl Faual, aL&msn 12
3o Hare! & Aoy a1 fadh 3% @ @9 areft @fv, af a1 =3

STERa § | 79 TuaS Fi Y JR IReSTe FHifeet 259 T &

ed wenfea fovan w2 2
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4 AG -63

Institute Cargo Clauses exclude loss, damage and expense arising from
insolvency or financial default of Owners, Managers, Charterers or Operators
of the carrying Vessel. In what manner this exclusion is modified under the
Institute Commodity Trades Clauses ?

TF AR TRT & WfeRh e U ST §R U 1 S e
fore o € | 31y 3T R TR i RIEIRET B9 S 3o
AT 3k T8 IYCied YU &I 1Qifhd & |

The owner of Cardamom estate approaches you for insuring all their
transits.Mention the policies which you will recommend to him and highlight the
coverage under them.

ZRTSE TEH FAST-5e9 1.10.83 3 Sfawla SGRUT &7 a1 vasi-l
& U F |

Describe the scope of cover and the exclusions under the Institute Time Clauses
- Hulls 1.10.1983.

12

12

12

16

16

—
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ASSOCIATESHIP EXAMINATION
MARINE UNDERWRITING

T : 3 HE [&e 3 : 100
Time: 3 Hours] [Total Marks : 100
TRl o1Te Uyt & S ST | THat gva o 16 3k € Theg 9 atfvamd 7t 7 1

I AN TRAF IV 2 AFFH T |
Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

L et At w Rl R (5o 4 o)
F) SAUW gEAr
@) -3 FAn
M) e Wfess HitEt
¥) TR T UiaEmEt

1. Write short notes on : (any three). ' 4 each
a) Successive Losses
b) Shut-outcargo
¢) "Auto-fac"treaties
d) "Rustbucket" fraud.
(TS & 4 3F)
2. ¥ & e ‘S Sifgel’ @ H9H 8 9 8, S

ITEWI 2 g, $70 § Feredl ot ‘amer s’ =i &
%) T g @) =
M) hel-afa ¥) 3 HITW TR TGO

2. Discuss the following 'extraneous risks', citing examples of cargo susceptible 4 each
to it. (Any three)
a) Heating b) Sweating
¢) Country Damage d) Contamination by other cargo



2 AG -65
frfff Al T T aEi S e s gueR € ;. (T &4 3(F)
) IE FAS
@) oERe @ gan
T BF AN
¥) fafmg-w &1 e

What do you understand by the terms: (any three) 4 each
a) Clause paramount '

b) Held covered

¢) Deckcargo

d) Discounting a Bill of Exchange

(T & 6 )
frefafen & @ Rl gt & dtw &0 & R dtwr g9t o ot A

M § W@ T §, 3% SOTR &
F) Y[ Jo AED

§) W Ik I8 (SW)

M) FRIW

Bring out the underwriting considerations for i msurmg (any two) 6 each
a) Drybulk carriers

b) Liquid bulk carriers (Tankers)

c) Supertankers

@Wm%mﬁﬁmﬁmﬁ@ﬁﬁ?a‘rmﬁ@maﬁ

FA T AT T FENE @ (I8 & 6 3ih)
F) ASeh

T) IS (T, 5, S, o)

T) FeEeR wig =e]

As a prudent underwriter what precautions you will take while underwriting 6 each
following commodities? (Any two)

a) Fish

b) Grain (wheat, oats, Bailey etc.)

¢) Galvanised Iron Sheets
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3 AG -65
TRt g & o & iR e & (97 % 6 3i)

F) ST W qAT S-S HM
g) U-U 1T 791 TSeER o
) W wdq fA:yes fafa aun ar, e aren faata

Differentiate between: (any two)

a) Rejection Risks & shut out cargo
b) RO-RO Vessels & Fishing Vessels
c) FOB Exports & CIF Exports

o gRRyfaEl | aen fFa Il W U Aokl AT Hhar SiaT SA7axeT
SRt fofan @ 2

Under what circumstances & for what conditions is a Seller's Contingency
Insurance cover issued?

fordt HON S W R @ 999 &1 § W@ 99 9 o 9qE
wERT AT H |

Explain five principal factors which are involved in the consideration of a
cargorisk?

wey & qaTe fh FR g gt A & Hed & g w1 R FE ?
T (e & F 7 € 0

Briefly mention purpose of reinsurance in relation to Cargo & Hull insurances?
What are the functions of a Reinsurer?

‘Gl i F9 W FH FA A 3R@ WHT 3 9 e adt 31 Sheege
FON FASNT H FAT 39 o1 S YU ], 31 gaTen 2 Y 39
FO R == H |

Proper "packing" plays a great role in minimising losses. Discuss the statement
citing the Provisions for the same under the Institute Cargo Clauses.

6 each

12

12

12

12

12

12

16

16
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| W= s Ee |

ASSOCIATESHIP EXAMINATION
MARINE INSURANCE CLAIMS

g ;3 6e | | ~ [@e e 100

Time: 3 Hours] [Total Marks : 100

TRl 3TTS Uvel & et T | WY 999 % 16 3w 2 Toheg I atfoard et )
AT AR TAF YT 2 AFH R |

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

i . - Marks
| fEfdmat s (EF F 4 )

) fygfa <@ W O 39
¥)  Himrgres. (et wishar |

1. Explain any three: 4 each
~a) Duty Insurance
b) Functions of a Surveyor
¢) Remittance of claims on export

d) Customs Clearance Procedure.

2. Yot €9 W gt fowft forg - (IS & 4 37F)
%) ARy Tt
@) w04 st & i wifafte stuasia
) WA & AT & At

¥) MR g |
2. Write short notes on any three 4 each
a) Classification Societies
b) Statutory Exclusions under Marine Insurance.
¢) Warranty of Seaworthyness of Ship
d) Tradelosses.



2
Tereet ot & aR & gy § forg -
F) IAUTK FMAA T) # Rd Haa
M 8 fAamEef, 1924 ¥) SR v
Write in brief about any three :
a) Successive Losses b) Bonded Price
¢) TheHagueRules, 1924 d) Letter of Transfer.

wa%zﬁﬁa‘mwaﬁ:

F) Yeh § FH qUw L

@ - o et
M) WIEHAY qur HerfaRie fd

Distinguish between any two :

a) Abatement and Remission of duty

b) Valued and unvalued Policies.

¢) Sentimental and Sympathetic damage.

TRt & W g ol forg

F) AieRe FANH TR, 1911 (T, 3.)

@) WA T T3 TR, 2007 -

M) AT & AW R W AT H g8 (3 W)

Write short notes on any two

a) Meritime Convention Act 1911 (UK)

b) Carriage by Road Act - 2007

¢) Goods carried at Owner's Risk Rate (Railways).

T ¥ fonedl St &1 g9E

AG -66
(TAF & 4 3(F)

4 each

(FAF & 6 3HF)

6 each

(FAFH H 6 AiF)

6 each

(FAFH T 6 3iF)

F) méﬁaaﬂmgﬂraﬁmm 1925 % aiifer e % Rrsarfear

IO IO

) wiferd H THREE
) T3 SIfhT
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Briefly explain any two :

a)  Responsibilities and liabilities of Carrier under the Indian Carriage of Goods
by Sea Act, 1925

b)  Assignment of Policy

¢) Drydocking

T WHITOTh Faeor Ruld § e qeeedl @t stevasar vsdt 8 2

What are the informations required in a Standard Survey Report ?

W%ﬁmmaﬁaﬁmmmwaﬁaﬁﬁm
Bt 8 2

Explain the applications of General Average to Policies of Insurance on Ships
and Cargo.

70 el | S8 Aoy §SH & A q6Ig q41 §AT § 399 @ 5T 3
S |

Name the important organizations connected with marine Claims and briefly
explain each of them.

qmﬁaﬁ&maﬁu%waﬁq@aﬁmmaﬁﬁw"

FRN, T ST-3TTT TeH-Ta1 & STaela Tem-3Te RARRE & a9
¥ S fa T o er AR W ATEEER ageE

D 1,276 T3 gE e A wge oK 37 W ) A wwem 9W

g 9 |

i) 2,316 S e T g i S RARa & e 1 T
g 1 3% ®. 300 ¥y M3 F W I I T, M H gEd
T &, 600 9fd TS i 7 | (T TH 50%)

i)y 220 TS YeT EUY & FWU THY T B R gF |

39 IR o @ w wuEeE BRI 450 M & S TSR
HN TS (R) F 7@ F. 3,00,000 F 7T HEA A1 701 B2 o
fremat 3 s 200 M3y g% |

6 each

12

12

12

12

12

16
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10. Aship suffered damage in stranding. As a result, the Cargo of cotton bales, 16
consigned to different consignees under different Bills of Lading arrived at the
port of destination as follows :

) 1276 balesarrived sound with marks identifiable

) 2,316 balesarrived damaged with identification marks gone. They were
sold at Rs. 300 per bale, the sound value of bale estimated atRs.
600 per bale (depreciation 50%)

i) 220 bales were atotal loss due to stranding.

Adjust the claim of a consignee who insured 450 bales for Rs. 3,00,000 under
Institute Cargo Clauses (B) and who received 200 bales with marks intact.
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T &t
ASSOCIATESHIP EXAMINATION
MARINE INSURANCE
U : 3 52 ) ~ [@e w100
Time: 3 Hours] ’ [Total Marks : 100
et o118 Tvet 3 IR SRNT | TWET UT 16 w%mwaﬁwﬁa‘i% |

A AR TAF YT 2 FFHH T

Answer EIGHT questions only. Question number TEN carries ‘16V marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. mﬁmﬁrﬁ@ﬁﬁﬁﬁa‘raﬁ@wwﬁ%? (T % 4 37F)
%) TG qer g | o
Q) WWWWWWWW&W
T) ER WA G 2 U
u)  gfataer qur daetstor

1. Whatdo you understand by any three of the following ?. . 4each
a) Subrogation and Abandonment. : '
b) Functions of General Insurance Corporatlon of, Indla and General
Insurance Council.
©) - Liner Vessel and Tramp Vessel.
d)  Unitising and Palletising,

2. Frefofed § @ feedt ot woaftm Ruoft ford . 0 (T & 4 31)
) Yo S
q) W%mwﬁﬁaﬂmaﬁm%ﬁ, o

2. Write short note on any three of the following : 4each
a) Specific Policy
b) Duty Insurance
¢)  OpenCover
d) Importance of preparing cargo for transit.



, 2 AG -67
fefeed § @ fonedl i o gav § aufq & . (3 & 4 3)
%) AfaRe difwaw &1 e
) YR & ENF e §H 3T @@

) IS Tow FAET
o) w{T FER A

Briefly describe any three of the following : , 4 each
a) Payment of additional premium

b) Identifiable hazards during Transit.

¢) Institute Bulk Clauses.

d) Marine Cover Note.

foefeaa & @ feedl 9t W a1 R T o (9l & 6 3ie)
F) A & (99 a9 787 St § 399 g5

@) - F guiid o1 &1 yua

) IR FAfaiheyH Frs (2001) & fAfee oref

Give your opinion on any two of the following : 6 each
a)  Rules of Interpretation and their importance in Marine Insurance.

b) Effect of Termination of Contract of Carriage Clause.

¢) Implication of Institute Classification Clause (2001).

fAfafaa 3 @ el & o=l & (TS ® 6 )
%) HAU B A

W) dESl o1 SHHAEN 9 el F 9o

M) GRA & FIE SR

Discuss any two of the following : 6 each
a) Insurance of Containers.

b) Importance of recoveries from Carriers and Bailees.

¢) Major Ports of India.



3 AG -67
. fefafed § 9 fet 2 & 9R § g8 § T (T 3 6 37)
%) T A i | {EA gt & g

®) el iRt 0w F AE I

) W I qAh St e

Briefly explain any two of the following : 6 each
a)  Useof Information Technology in Marine Underwriting.

b) Standard Conditions for issuing an open Policy.

¢) Marine Advance Loss of Profits Insurance.

. T SR & e e W i ¥ o i A w12
0T T |

Describe the method of initial rating of an ocean going vessel, with simple 12
examples. :

I g & fAeE #t WA g ﬁfﬁwé?ﬁwﬁ@ﬁmﬁ% 12
TR R 39 {3y & S8R @ Ft 70 R | :

U Bt [0 e e et gF Mt i Fn H ¥ g g’ T °

e ST AT | W T ST S W 3 FROT A FRON T @ e &

T | 9 o e A g Rl o 5 G qeredf deome W s @

3R fean S, swrhat & waeret A e fhan o St satmg | FRm

H g 39 T W Ao & R s o et 3 aRkom FEEER @

%) fasna o - $ 10,000
@) Hfardt qor wEgw e - § 1,000
) fifra afd - $ 50,000
w) ot oI - omg. ®. & (T) 1982, HqF

gSarel <M TaH AR 39%d’ 3UEd
SifEw, 373 g & «al W |4
e 1% &1 &1 ST |
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What is the 'Salvage Loss' method of settlement of a cargo loss ?
Based on the following facts, calculate the claim as per this method.

Cargo of fully pressed cotton bales in container were sent from Mumba1 to
London by sea. It got severely damaged by a fire on board of the vessel.
Master of the vessel decided to offload the cargo at an intermediate port.
Insurers and surveyors decided to sale the cargo by auction at that port and
realise the best amount. The following were the result of the auction.

a) Sale Value : = $10,000
b) Auctionand SurveyFees - * $1,000
¢) SumInsured - $50,000

d) Terms of Cover - ICC(A) 1982, War and SRCC Risks,

1% excess on the whole on partial loss

claims.

Wa‘»qﬂqaﬁmmﬂwnﬂqaﬁmwﬁﬁm |963ﬁ1‘%|@rwaﬁ%\

foe o gy § gHEe |

Explain in brief the Marine Insurance market in India and the Salient features of
the Marine Insurance Act, 1963, o '

“hRzee FT TN 2009 3 37 T TR RS H we M
< 1982 3 Fist & off gar aw A ot SRR AU § W

an?\‘rﬁﬁaaaﬁmﬁ l”‘émm&wavﬁwm| |

"Institufe Cargo Clauses 2009 have clarified certain ambiguities which were

there in the 1982 clauses and have also changed the language from colonial
English to simple English". Elaborate w1th examples

12

12

12

16

16
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ASSOCIATESHIP EXAMINATION
MARINE INSURANCE COVERAGE .

T : 3 6 | ‘ (et o @ 100
Time: 3 Hours] v [Total Marks : 100
Tl 218 vl & e ST | SWaT v & 16 itk € R I arfrard =t §1
FTAM yRH T 2 AdFHH ¢ |

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

\

‘Marks
1. IOOOZ?SHCWW@W%QTEﬁéﬂ‘ﬁ’ﬁmwm'lﬁm?ﬂ
forereoT formrgam o | (ke 3 4 37)
AMeRUT  : E. . WL (T, W R IE-A0 R gsE-An 4
e I50ME W FR &l derae wieh Hiad w=ow § A9
AT AT | YAF 99§ SO . W @ o
WA Y ¢ &, 2,00,00,000/-
10 27 & St g F I e, gefers 3 s 5 3% 4ol & 50
feh. 7. it S 51 . . et o 3 F F wh FROT A F A 1 1%
wH T F T F IR0 . mﬁwﬁﬂﬁw@%wm
TS |
w7 Frfeifad 3 R el ot & sw & ;
F) e § sfoRead wE 3 FR0T g FH A T B | A T
A ? AR, @ fRg AR § ? Ak 7, @ R sTas % A
|) qﬁﬁ%ﬁ%wgﬁmﬁaﬁmaﬂaﬁmﬂ%ﬁwﬁ;

T A A g ? e
LR E R L] o
¥) a9 a7, . w(ﬁ)wmwﬁmﬁmaﬁﬁmw

g ?
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A consignment of 1000 tons of fertilizers was transported from country Ato 4 each
Country B . Insurance particulars were as under.
Cover : ICC (A), transit by sea and then Road. At the destination

port the cargo was to be bagged and then transported to the

interior. Each bag was supposed to contain 50 kg.

Agreed value: Rs. 2,00,00,000/-

A shortage of 10 tons was reported. The surveyor observed that 3% of the
bags had 51 kg of cargo instead of 50 kg and this too was one cause of
shortage. 1% of the shortage was due to loss of moisture. The balance was
attributed to Theft and Pilferage.

Now answer any three of the following :

a) Work out the value of shortage due to extra filling of bags. Is it payable ?
If so, under what head ? If not, then under which exclusion ?

b) Work out the value of shortage due to moisture loss and state with reasons
whether that will be payable ?

¢) Work out the shortage claim

d) Work out the claim if ICC-B cover would have been given.

fer=ft ot & W3 | (Sl & 4 3i)
%) A BN oA & TH G SR §H & T A B ?

@) 787 e @ o @R At | & il @ §e § ' 1

T) Wb Gt ST AU UF Geit gt & e & FAw A T B |

Y) Sg-URHA/ag- ST el R Sand wa 87

Answer any three of the following : 4 each
a) What are the advantages of having an open cover in Marine Cargo
Insurance? ‘

b) Explain inbrief the principles of insurance applicable to Marine Insurance.
c) List the differences between an open cover and an open policy.
d) What does a multi transit/multiple warehousing policy cover ?

ot i & 33 . (T & 4 )
F) . @ @ () ARSI SUEsE gRT & e W |
w) o & @ (&) & siwiq emaRa el Fit gHas :K |
) o7E. A, . o9 1.10.1983 @ €W 6.1 F il MERd SHfEA
@ FEas B | . -
) I[eh ST H AL & Aen aRfedl @l YEias B |
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Answer any three of the following : - 4each
a) Explain the unseaworthiness/unfitness exclusion Clause of ICC-(A). '
b) List the perils covered under ICC- (C)
¢) List the perils covered under Clause 6.1 of ITC Hulls 1.10.1983.
- d) Listthe warranties applicable to duty insurance.

TRt gt & 3w e (I8 & 6 )
%) fooh & eTsfiasar i it arem W 1
) omE. 2t W &9 1.10.1983 & Hid dHMERE B FdF G H
Ui AL |
T omE. 2. . F 1.10.1983 F zFE J961 URT ERT F4T SR
T a1 ST @ 2

Answer any two of the following : ‘6each
a)  Explain "Seller's Interest Contingency Insurance".
~ b) Describe the Duty of Assured Clause under I. T, C. Hulls 1.10.1983.
¢) Whatis the cover provided by the Collision Liability Clause under I. T. C.
Hulls 1.10.1983 ?

Tt @ Hsm (T % 6 37e)
%) o 2 W W 1.10.83 qun oM. A . &ww 20.07.1987 W
Red & a9 & i ofae aad |
) IrE. ®. . (V) 7 oms. . . (a) F " F 9 i) @ |
M IME. . #H. (T) 1982 T oz, . f. (T) 2009 3} ‘el U F
e &1 3R TwEmsT |
Answer any two of the following questions : , 6 each
a)  Listout three differences between I'T C Hulls 1.10.1983 and I T C Hulls
20.07.1987 Port Risks .
b) Listout three differences between ICC-(A) and ICC-(B)

©) Explain the differences between the "duration clause" of ICC-(A) 1982
and ICC-(A) 2009.
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Ty § Ret & F a0 R | (S % 6 3ih)

%) ISR T Fs
Q) e FETR AT <BH
T IfeSE e TN

Briefly describe any two of the following :
a) Institute Jute Clause.

b) Institute Container Clause and Time.
¢) Institute Yacht Clauses.

T S A el Wl b e B e §H |
Explain with examples the importance 'of Inco Terms in Marine Insurance.
SRR S & STl e, SryEtHl aur ANy wdl i e B |

Explain the coverages, exclusions and the special conditions under Rejection
Insurance.

FION ERT FA et & GHHE WIeArEl % AW g qo 39
foy a1 Sead | |

Name the two contemporary policies issued to cover cargo and mention their
salient features.

R g aaifRt fw o savaed R Tedt @ 7 U R Ruwd
et i wiferdt 3 oidia smaRa SIREHl ad Sqasiql H qui
W | :

Who needs Ship Repairer's Liability Insurance ? Describe the Risks covered
and exclusions under a ship Repairers' Liability Insurance Policy.

6 each

12
12
12

12

12

12

16

16
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ASSOCIATESHIP EXAMINATION
MARINE RATING AND UNDERWRITING

I ;3 6 [S5eT 37&h : 100

Time: 3 Hours] [Total Marks : 100

Teregl 31Ts gt & S AT | gwar yv & 16 m%ma@aﬁmﬁqﬁr%
A g YRR UIT 12 AHH R |

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. Fefofan 3§ @ fedl dtw =t deu & gue - (I & 4 ()
%) Hfoawor e
g) SHel-af
T) IE-3AR[T FHM
¥) gread 8

1.  Briefly explain the following: (Any three) 4 each
a) Disbursements Insurance
b) Country Damage
¢) ShutOut Cargo
d) SalvageLoss

2. fFefafad & @ fardl ot @ 92 fimr eied e T € (JF & 4 3h)
&) Tk hieTH
T) ATHIR e R
T T O
%) HSHUR 9

2. What are the Underwriting factors associated with: (Any three) 4 each
a) Bulk Carriers
b) Offshore Drilling Rigs
c¢) Coastal Vessels
d) Fishing vessels
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Tl ot W Gfera fewef ford (TAE & 4 37%)
&) R G
@) Wi ud i qen giy e
T T-T U
¥) famfaett & SifEw & i

Write short notes on any three 4 each
a) Liners

b) PerBottom Limit & Per Location Limit.

¢) RO-RO Vessels

d) Builders’ Risks Insurance

TRt &t & i =7 IR T (I & 6 37)
F) WAT YUR T G TS AR G
) fawy st efy qon g fiw ety

M) SRR T R-SALAE T |

Differentiate between (any two) 6 each
a) Salvage charges and Sue & Labour expenses

b) Particular Average and General Average

¢) Proportional & Non-Proportional Reinsurance

fomforia & @ fordt F ST aw € - (FTH % 6 3iF)
%) fava & 7@ Tt e ot geftag s awr e |/ e v @ avfa
R |
@) R stgat i & el & Ayl dewe & fawg | ford |
T) T IR §ITME H1.A0H R

Answer (any two) of the following: 6 each
a) List major sea routes of the world and describe any one of them.

b)  Write about an important port of either Pakistan or China.

¢) Describe an ideal harbour.
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freferfn & @ fonlf € & aR 7 wav ¥ g (9% & 6 3iF)

%) Qfefn T & dad & Fron fr & e it w-feako F R |

@) o W W (V) F 7w B D T Ages |

) w7 S sAfufEm, 1963 @ aw 25 % AR 70 et & fow
YA |

Write in brief about (any two) of the following:

a)  Premium rating factors for Cargo Insurance by sailing vessels.

b) Any two major exclusions under ICC (A)

¢) Requirements of Section 25 of Marine Insurance Act 1963 about Marine
Policy.

WW@%WWW%#@@%@WW@&@%
U, ShaT T ke /am Forieor syeen wreenfaal o A1 3 o7 o7 &
T B § = ?

Because of disastrous effect on the victims of maritime fraud, what are the

checks & precautions that buyer & sellers can implement to guard against their
possible involvement?

A T 1 SFETUT A e | ([ AR Srvadty sHga a U 39 o
Iyt e &1 vl |

Describe types of offshore units for oil & gas exploration & production
Insurance?

A & Wl & 319 97 §oen & 2 w0 a1 ot S fEhd s
It = & g W o=l #1

What do you mean by Rules of Interpretation? Discuss the rules of Interpretation
governing Marine Insurance Policies?

freferian wem it afewr e +
‘g i W A T | o ot o () Sife & fag weee
HAfarda: wfte g1 =Ry’

6 each

12

12

12

12

12

12

16
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4 AG -69
Elaborate and explain the statement: 16

“every Premium should necessarily include in the rate calculation provisions for
ICC “C’ risks”
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iy st
ASSOCIATESHIP EXAMINATION
AGRICULTURAL INSURANCE
g3 ue ) [ 3t : 100
Time: 3 Hours] [Total Marks : 100
T TS T B ST RN | AT UV ¥ 16 ik & Ry 7g rfvErd Tl E
I AN YRR YT 12 AFHE |

Answer EIGHT questions only. Question number TEN carries 16 marks but thlS isnot
compulsory. All other questions carry 12 marks each.

1. znzoozﬁzoomméraﬁ%rm@ﬂcmw%mé@%sﬁm Maﬂfsg 12
TR T F 3faid a9 2008 & forw fiftm &7 2.
s = 2002 2003 2004 2005 2006
Yeraw fRa/ | |
| TR
EICE] 2800 2600 | 2390 2930 3000
- et 1500 1350 1610 1760 1800

%) =Tl T Jhedt B ST deER I F4 @, AR 3 BEal B
U &. 2000 AW F. 2,500 ¥ feee w1 @ b (rfeemaw st
oY) W 39 Sifaw 3 e St /e 9.,

g) 3 wmEe SR E. 2,50,000 it e 3t €. 1,50,000 8
T TEERAE e R aed & T §. 6.00% AR et &
faT ®. 8.5% 2, o vy 3% Wiftrm 3t feft | waem: &
2.5% 3R 3.5% R, @ et 37 Hifemm 3 T0Er HC

) I AR A & " & HW FH GHAEC

¥) TASA W SR wuft fafe.

1. 'We give below data for Kharip Season for the year from 2002 to 2006 for an 16
areainsured under NAIS for the year 2008. .
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Years - 2002 2003 2004 2005 2006
Yieldkg/ha. | '

Rice 2800 2600 2390 2930 3000
Groundnut 1500 1350 1610 1760 1800

a) Whatis the value of threshold yield for Rice and Groundnut considering
these crops as high risk and low risk with M S P as Rs. 2,000 and Rs.
2,500 per quental respectivelly.

b) Calculate total premium payable if acturial premium for Rice Rs. 6.00%
and for Groundnut as Rs. 8.5% against their plate rate of Rs. 2.5% and
3.5% respectively considering 5% Rs. 2,50,000 for Rice and Rs. 1,50,000
for Ground nut.

¢) Distinguish between Franchise and Excess.
d) Giveabrief note on Re-insurance.

2. foredt ot Wt % e forf - (w4

3.

%) T F far Ao & ofwia woe dqER & AN & e T4
Fredgomett & 2 '

T) ZUE T H qod QST e @ ?

) oY A TS % 9 H 59 FE A & Sl | qu sAwt gl
Ft 1 FrEFUTed 8 ?

H) T T H[CAHT B (A S B 7

Answer any three : 4 each

a) What is the procedure for estimation of Crop yield under National
Agricultural Insurance Scheme ?

b) How milch cattle is valued ?

¢) Who are eligible to work as micro insurance agents and what is the
procedure of their appointment ?

d) How valuation of drought Cattle is done ?

Tt s ool & S e ' (S % 4 3(%)
%) T T IME TH & fawia F0T 7 dA4ama el & forg e ufyn &t
Hnd & 7 3t S € 2
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T) wﬁfﬁﬁmwﬁm(@@wﬁ@ﬁw‘awﬁmaﬁ
qe § H9 ot gur 63 & 9

R, W@Emm%mm%mﬁmwmm
T el § 7

F) WY R A1 H T AR & 87

Answer any three : , 4 each
4a) How limits of Sum Insured are fixed for non-loanee farmers under NAIS.
b) Write three improvements introduced in modified NAIS (MNAIS)
over NAIS.
¢)  Which insurance Company can work as implementing agency for MNAIS.

d) Whatis the effect of climate on cattle ?

AT 7 @ 7 e e i | T (FE 4 30)
) PO g

Q) FH e & o _

) FY % T AR e & waifie oW YR |

What is Reinsurance ? Discuss . _ 4 each

a)  Agriculture Re-insurance.
b)  Benefits of Agriculture Reinsurance.
¢)  Most Common forms of reinsurance applicable to agriculture Insurance.

T <ftar T Ao =T 8 2 (F0F F 4 3)
= W Seart e

%) aga‘rmmamm&hamﬁM|

§) oY i & A7 Y JHR T 8 2

T TFmI e RIE?

What do you mean by Micro Insurance ? Give an account of : : 4 each
a)  Scope and Specification of Micro Insurance products.

b) How Micro Insurance Transacted ?

¢) Whoare the Micro Insurance Agents ?
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4 - AG 71
ot @y & I fafax : (YT F 6 3ih)

%) TF T E T & A waret dtar & fore it R 39 o ot st & 2
W) TS TR F St el & e Frufor 3 w2 srbvomed @ 2
) cha@ma\saiwfﬁaﬁﬂaﬁmﬁ(m)aﬁwm‘ﬁw??

Answer any two:

a) How premium rates are decided for insurance of Crop under NAIS ?
b) What is the procedure for assessment of losses under NAIS ?

¢) * Whatis the role of yield data under NAIS ?

Wﬁ‘wmmaﬁmm’(maﬁﬁaﬂf@)aﬁmﬁﬁ
O A oA ST Bt B A BT YA BT IS @/ ?

What are the challanges that insurance industry faces in implementation of
WBCISinIndia?

W%W@WWW§?WW%Wﬁ%WW |

@ i,

What do you mean by Valuation of Cattle? Give an account of valuation of

different types of cattle.

0§ Y S wri § TR A e i o e ?

Why government should continue to support agricultural Insurance programmes
inCountry?

T ST HAHH F GO ST SER | 7 S &t 3R |

Fame ?

Why Crdp Insurance Programmes operate on Area Approach and not on
Individual Approach ?

6 each

12

12

12

12

12

12

16

16
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ASSOCIATESHIP EXAMINATION
MOTOR INSURANCE

g 36 ) (gt 3fak @ 100

Time: 3 Hours] [Total Marks : 100

Tl o118 Uoal & e ARAT | SHAT U9 & 16 3k & TRy IE o1frard =t § |
AT yRH YT 12 H H E | |

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. fafafaa § 9 feel e W ot il fafa (I & 4 37)
F) % TR | FA-feE
g) dra= A4-fee S
T) yeETe &
¥) FR AR

1. Write short notes on : (any three) 4 each
a) CashLoss Settlement
b) Volenti Non-Fit injuria.
c) Areaof operation
d) Cover Note

2. frafafad el it &1 necl faere =i (FAH & 4 3F)
S %) dERS S e % IvEE WieRd H1 i FA & [ avas

A
@) ‘geaurer & g @ gEe
WRKEETURSCEl
¥) AAfqs Sfaw fuieT &1 & w2F

2.  Highlight the importance of the following (any three): ‘ ~ 4each
a) Documents required for transfer of policy in case of death of Insured
person.
b) ‘'Limitations as to use' provisions.
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¢) Renewal Notice '
d) Moral Hazard as underwriting factor.

T W K (Fat o)  (TRE & 4 )
%) HEwE 7o et T

@) 3 wRaed R BF tRagT

T) WA ESIAT S ey gt

u) 0 @l & e o are duw WK % oreadi ard

Distinguish Between : (any three): ~ 4each

a) Public Place and Private Place

b) Contract Carriage and Stage Carriage

¢) . General Damage and Special Damage

d) Vehicles subject to Hire Purchase Agreement and Subject to Hypothication
Agreement.

Tt §F SuyeHl & S fafaw | (9 5 6 i)
%) ‘ot A WRTE F SFara avAfe Syaw

@)  wfear Wi % sfwia qeR Tl

T) AT AR wfet 5 ‘@ afy’ @ve | srvast

¢ Write in brief about any two of the following : 6 each

a)  Addon covers under "Liability Only" Policy.
b) Depreciation Clause under two wheeler Policy.
¢)  Exclusions under O. D. Section of Commercial Vehicle Package Policy.

TRt 9t 3yl & S fara (J% & 6 3()
F) aﬁmm%mﬁqﬁmwarﬁaﬁm%q%qaﬁw
TGl HIT |
@) wmw(m—m)mwé?
M) e i i | @ & R e e § 0

Write any two of the following : 6 each
a)  Describe the procedural aspect of third party claim in Insurance Office.

b) What is Knock for Knock Agreement ?

¢)  Whatare the rules for cancellation of Motor Policy ?
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— 3 AG -72
Tl & g & IR i - (Fe o 6 3)
%) @A furaT &, s e § 9ae ywmEe e
i g fopar o € 9
T) Wwwﬁﬁaﬁ#uﬁrﬁﬁmaﬂﬁ%mwm
SHH™ @ ST S St g ?
) SR TEd G & w1 HR 2 7

Answer any two questions : 6 each
a) How the proposal for imported vehicles are dealt in underwriting
department ?
b) Whatis the information generally seen while considering quantum of
damages in T. P. Claims

¢) What are the functions of Jalad Rahat Yojana?

12
. AR, €. T g RO qF-UG & g0 HHIT |

12
Describe the procedure of Pooling System Mandatory by . R. D. A.

12
@A F g ? 39F Bl @ vl SR |

12
What is M. A. C. T. ? Discuss it's functions.

: ' 12

qet A A A Y i I wied W S

12
Explain with Example the basic principles applicable in Motor Insurance.

16
T 46 yE-whpf i Sifgw siwT § ‘qar-eraa ot i
S & fie 59 we Heequl 87

16
How does the claim experience and Moral Hazard plays important role in
acceptance and underwriting of Motor proposals ?
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e gete, sfterd w farfeer
ASSOCIATESHIP EXAMINATION
PERSONAL ACCIDENT, SICKNESS & MISCELLANEOUS

INSURANCE o |

g ;3 ue ] o ; (&I 100

Time: 3 Hours] - [Total Marks : 100

ﬁﬁﬁmmaﬁwmmmm%mm%ﬁﬁwaﬁaﬁqﬂ%l i
I UM URFE YT 123FH § |

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
- compulsory. All other questions carry 12 markseach. -

. Marks
1. Frdl ot 39 o & S T | | (uﬁaa\wam)
%) TR aen fm it & Wﬁ?ﬂTﬂE‘lﬁlﬁ W%wfﬂg@
ouasq fafaw |
@) SR g i § diftem R waft Ayt A R
foreft et et 2, v % @ (Afgaam) dtmr wiersh & Wiffem
W g W it Fweht @ | 3 HROT IR | |
M @zmﬁmmwﬁmﬁwmaﬁwﬁﬂmﬁw&f.
B 7 -
) rrm-q‘mﬂtﬁeﬂawaw@m@fwmmé R
HEA & Y WL HRA |

1. Answer any three: : ‘ o 4each
a) Which are the main exclusions in respect of the Personal liability cover
under a 'Overseas Travel Policy'?
b) Inpersonal Accident insurance, the premium rate does not vary w1th age
unlike a mediclaim policy. What is the reason for the same?
c) What factors would you consider as important while underwriting a Plate
glass insurance proposal.
d) Theliver is considered to be one of the most important part of the human
body. Describe the same alongwith functions.
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 (TATH 4 )
2 mmmﬁmmww(wm)
%) oy Ay
) gudt 9
) FHIER ©d & GgErh St @
¥) AT |

2. Briefly explain the following terms in a Personal Accident Policy:- (any three): 4 each
- a) Educationfund

b) Cumulative Bonus -

¢) Intentional Self Injury

d) Renewal

3. Tt e 39 ToAl & S fafae (FRF F 4 3F)
. %) el st S wiewh § it g @ dw R Ao e T,
Wmiwﬂomaﬁmwwﬁélwmé'ww
fareciar FR | - |
) Gﬁ%ﬁmﬁmmﬁrﬁﬁml%wﬁmﬁmaﬁaﬁw
27
M) gfere W FEE } @ a7 T, A e &
THH T IR R 98 FAls oo P s obar € 2
¥) FRER GRE R I3 G G G I F S 79 76 qel
%ﬁ@amgﬁwmaﬁmw#ﬁql ~

3. Answer any three: ’ " 4each

a) IntheJewellers Block insurance the sum insured of the property is deemed
to be cost + 10% and not the market value. Analyse the reasons behind

b) In the Jewellers Block policy why cover under Section - I is made
compulsory and not the others? '

¢)  Whatdoes the duplicate key clause achieve? Can the clause be deleted,
if proposer wants? :

d) Compare and contrast the various securlty and safety features now

- available inabusiness premises risk with what could have been the situation

decades ago? '
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ol @ suuw s ffaw (9 5 6 37)
. %) WfeF AR g WRerdt T AT F T & S I
FIRA H 3 T ST9-HIeTq Tt Bl SFeia (ha1 S 8 | a9
W ! 3Tl 59 e il @ 7 9 e o AUSR-8T T 8 7
@) wfeFw fim sk Al g o i § syes TRaRks
YT T A T HIY I SR W FHRT | | |
Tr) ‘WA (SRR TR dtar wferdt & weof 7 sty iy wgfoe
YT SO 3R § - T 9% 9 et 2 7 3N 7 W S
R 3w qfe MR |

~ Answer any two : ‘ "~ 6each
a) Bonus-Malus concept is used while quoting the terms and conditions for
the renewals of group Personal Accident Insurance? How i is this applied
in practice? What is the justification for the same?
b) Compare and contrast family Package cover in mediclaim and Personal
: Accident Insurances. ;
¢) Inrespect of Burglary insurance for the business premises, a surplus treaty
reinsurance is advisable. Is the statement correct. Give your opinion and
the justification for the same.

Toredi & 39 Al & ¥R ol (W % 6 )
%) - S 9 R svew § 7

@) favasaa gfogfa st & ‘eraor erafdy’ W et S |

M) I Y () e wiferst & ST i HY |

Answer any two : : : 6each
-a) What are the extensions available under Money Insurnace?
'~ b) Commenton "Period of Discovery" under Fidelity Guarantees.
c) Listout the coverages under Pet Dog Insurance.

Rt & 39 T I RifT ;.  aRwEeE)
%) foraen wfengfear sten & arqfess wifer & som e (wedtex)
ST AR Tt A A 7
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@) m-ﬁmmwﬁmmﬁmﬁqﬁaﬁwﬂﬁm%?
T TH TFH & T FRUT Fa8Y AN Fag SEd Fasy |

) FA AEaAn uiferdt § e emafd 8, 39 A % T e

uiferst & SR H =1 |iwr war ? T orem uifereht sty = § ?
mwﬁwmaﬁwmmmaﬁm&m
& 7T & eavEs € ? SR fafeT |

Answer any two :

a) Why is afloater cover deemed as a better cover for the insured than a
collective policy in Fidelity Guarantee Insurance.

b) Which factors are considered while underwriting a money Insurance
Proposal. Give reasons for each vis a vis hazard involved.

¢) Why aseparate Policy was thought of and devised in respect of cancer,
although it is covered by the mediclaim policy? For which other disease(s)
do you think such separate cover is called for? Give your reasons.

A & faf yoR & St W gefterers ==t SR |
Critically discuss the different types of Treaties under Re-insurance.

SR g1 A TWE-09 | (TEEs H) 3, U9, A Y @
w3 U ofaqd & | 3wy fob veeiell % SMUR W &AIC &, 3%
Hfurd I | SHRGH 7 A W 9§71 TT b ST H1 G AN
ST YA HAC |

A personal accident propbsal form contains a number of questions relating to
age, occupation, income and so on. List out the aspects on which such questions
are framed indicating the relevance and utility of the answers in underwriting
risks.

ﬁ%alﬂwmm@fﬁwaﬁé'?ﬁ;ﬁaﬁé@ﬁf%ﬁm
feraror forfa |%m§mﬁtaﬁ?ﬁaﬁaﬁmﬁ&mm
f?vlﬁaql

6 each

12
12

12

12

12
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Why the Package/Composit Policies are deemed as important ? Give particulars
of any one such policy. Also suggest any measure to improve the product and

be tore acceptable.

Afgaay qiferelt & yesil @ Ieei@ FT | Y H e F uiferht
T TH 2TYFSiA A FR & R0 T FHIHTC |

.waﬁaa“muqﬁ@#wﬁﬁmaﬁg@@aﬁs‘vﬁaﬁamﬁa?

Fﬁs-—lﬁ'waﬁgaﬁaﬁm

List out the exclusions which appear in a Mediclaim Policy.In each case specify
the reasons for incorporating the same in the policy according to your views.
Suggest, changes if any which you thmk would be advisable considering the
present market trends.

12

16

16
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ASSOCIATESHIP EXAMINATION

LIABILITY INSURANCE
. WEg:3ue ] [T 20 : 100
Time: 3 Hours] ' [Total Marks : 100
Torell 31ms Tt 9 I I | TWaT UvR 3 16 37k & g 9 arfrard T 8
A AN TSR I¥T 12 fF R & |

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. =t dftT Sugeal & S ffe - ‘ (9% o 4 3()
%) el S dtw § ‘qeer &t e & wee fofew |
g) g St | dftar sEfy ﬁww??@mﬁw
I |
) aﬁmﬁ@n%wmﬂﬁm|
¥) WER SR | SN B A &ty g d 9

1. Attempt any three questions : ‘ 4 each
a)  State the ingredients in definition of "Accident" in Public Liability Insurance.
b) Whatis "Period of Insurance" as defined i in liability Insurance? Give one
example.
¢) Givefive examples of Norn-Industrial Risks.
d) Whatdoyou understand,by 'Cross L1ab1hty !

2. ﬁﬁa‘i?ﬁwma‘;wmm (7% % 4 3()
- %) A e g i & el B i SR
@) AR R I F e i WE R |
M g ftw F uRenie e @ vl & sea FRT |
) 3aE A & %@mwﬁww?mﬁéﬂq
‘ FAC|
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Attempt any three questions : 4 each
a)  Listoutexclusions of Compulsory Public liability Insurance Policy.

b)  Distinguish between negligence and nuisance

¢) Mention methods of Re-insurance adopted in liability insurance.

d) Examine the need of Vendors Clause in Product Liability Insurance.

forft Wt Suwel & I e (I F 4 3i%)

F) FIA-BiAE e 3 F T @ SRR 31 IRt 2 9

T) HSH IaEd SRstt & fU HiF-siaa e g@ned fFa S
ahd & ?

T) TA. T AR T T AR S S - e S

¥) HHH AT e & §ed 1 fiAnes’ - foRee S,

Answer any three : 4 each
a)  Under what scenarios are general damages awarded.

b) Explain the covers which can be offered to Road transport Companies.

¢) N.L.Malhari v/s Post Master General Bangalore - Explain.

d) Insured in context of Commercial General Business. - Explain.

R & 3w & S fafa ;- | (TS 6 3(%)

%) 2T F A B PRAR FA & AT TN H ool DI |

) Hhe gfaqd aifafE & il e T gEl &t S H1 g
AT |

) ﬁmmmﬁaﬁammﬁsﬁﬁgﬁ naﬁarcq B3l

31 W ST |

Attempt any two sub questions : 6 each
a) Mention three phases in processing of 11ab111ty claims.

b) State categories of claims under Workmen's Compensation Policy.

¢)  State meaning of "Wrongful Act as stated in Directors and Officers Liability

Policy
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Tl @ Suyal & I Rrfaw s (T8 & 6 )
F) AN SiEy et gar St § ey iR Sias
® quiE F@r
@) HfYer AEis 39 A0 F WETH SIS TR - TR &
Ul HIFFC T A fm @ w2 aHaren S g AT |
T) 3R W W FW ;i F e@Efy qur AR @ emafy

Please answer any two : 6 each

a) The additional liabilities which car be covered under public liability
nonindustrial risks. ]

b) Covers available in form of compulsory insurance. Ennumerate also the
exemption. :

¢) Ilustrate with example, policy period and period of insurance .

Tt 2t 3yl & 3w 7 (¥ % 6 3i)

%) A A FH W TRERAH qUT AT |

) JErSY T9H T o0 T HIT |
) At giogfd s & sl 9 afra T @R |

- Answer any two of the following : 6 eaeh
a)  Special features noticeable in liability policies. ’

b) Explain in detail Rylands v/s Fletches

¢)  Procedure for rating Workman Compensation Policy.

st aifaqfd sifafem 1923 & sl e 3 3 o ST | 12

Explain Employer's Liability towards workmen, under "Workmen's 12
Compensation Act 1923"

.-Wﬁﬁ@nﬁ%ﬁﬁéwmﬁﬁﬁﬁmﬁmm 12
ﬁﬁfﬂﬁ?ﬁahsvﬁqﬁﬁmwmlﬁ@ﬁﬁé?W_ |
2 & & ged 9 wWE FR |

' Where is the need arising for insurance to refer Risk Assessment Report? = 12
What information is enumerated in the same ? Please answer with reference to ‘
Product Liability Policy ?



0.

10.

~10.

4 AG -74

mmm%aﬁﬁmwﬁmwaﬁwmﬁw
i A T W

Multimodal Transport Operator Liability Insurance - Coverages and Exclusions

_tobeexplained in depth.

S A fafshear TamaTes @ A as g oo wferdt 4
FrTRied T8} & Ferw W R

F) ITvEsH

g) 3Mfafiad Tuas

) SEF-URT

In case of Professional Indemnity Insurance Policy for Doctors and Medical
Establishments discuss relevance of the following :-

a) Exclusions

b) Additional Exclusions

c) Excess.

12

12

16

16
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ASSOCIATESHIP EXAMINATION
. ENGINEERING INSURANCE
T ;3 6e | [t 3t : 100
Time: 3 Hours] [Total Marks : 100
Rl mwﬁ%waﬁﬁq | TEET UYH & 16 3k § foheg T otfrard Tt § 1

AN URFE U 2 AFFE

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
ot o= STwedl & S forfae (T T 4 37%)
%) I Ha-sfaw uiferdt & 3fara aer AueE & oY avas
FITSI Yl S |
g) WA 9 3o wifert & 7+ |ve & ofmia, gefenr #t Rafy §
SR % Fefer T B € ?
T) IR FE RGN TG 5 fAeEd $0 & [T T6vaE gHe
SHEN & FEqUl WEl H Jeohg HIT |
¥) HEI g IO St & Sl SRl S wRaEr Y |
1. Attempt any three sub-questions from a, b, c and d: 4 each
a)  Write the important documents essential for settlement of claims under
“Erection All Risk Policy”
b)  Write the duties of assured when the loss is reported under Marine portion
of “Marine-cum-Erection Policy”
¢)  Write the important points about the General Project Information required
for underwriting “Erection All Risk Insurance Proposal.”
d) Give anoutline of overall coverage in “Storage-cum-Erection Insurance.
2. Tl <t Suyeet & W fafew (FAS & 4 3h)
%) “aRater st uiferdt & ma’rﬁﬁm q 1&g favas s
27

tc)) Ww@awwiwﬁﬁﬁqm?@qﬁwwﬁ
TR fefae |
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M) TR HEACAT FIT F EAE @O H Seor® FHOC |

¥) Ry At 3t @ oy ik FHw w1 #1 day 7 aviq
HNT |

Attempt any three sub questions from a, b, c and d. 4 each

a) What are the important contents of “Cross liability cover’” under “Project
Insurance Policy.”

b) Inrespect of combined cycle power plant project Insurance, Give the
definition of test run of Gas Turbine. v

¢) Mention common hazards in respect of Air Conditioning Plants.

d) Briefly describe power supply and compressor activity in Refrigeration
Machinery.

gAFLIeh YT atAr uiferelt & el o famafeiad W Sfere fewftrat

forfw - (FF & 4 3)
F) TAAID U & IIET

g) | SET HifEE

T FE A F@ g ara

Write short notes on the following in respect to Electronic Equipment Policies. .4 each
a) Examples of Electronic Equipment

b) External Data Media

c) Increased Cost of Working

ot & STyl & W i
&) WWW%WI%WWWI(M%GW)
T) ‘seeRIe Syl @A @ 3 (FE it 9f g @) F efaqid
37afy, STfterae U oy | Hag @ - 39 e W 9= S
)  gASI SUHT i @us 2 F 4w s a2 WA & @t
i el e e FE € a7 W FT |

Attempt any two sub-questions :
a) Comment on the exclusions under section (I) of Electronic Equipment ¢ each
Insurance.
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b) “Indemnity period is linked with maximum interruption period in section 3
(increased cost of working) in case of Electronic Equipment Policy”:-
Comment on this statement.
¢) Explain how the company indemnifies the external data media expenses
under section 2 of Electronic Equipment Insurance.

RS 37 T & S e (¥ & 6 3eh)
&) araer st A Hiftem -frior & s e |
) @ G F Aifees AR @ garet afdl &% aR § e W
FAT 31T TF FBrEwie siaer difedt # oo wey | R 1@
&R € 3H fa=a i |
) sfger dim ¥ g5 ‘T I AR T A9 fawhe’ e ol W
HIC |

Attempt any two sub-questions : 6 each
a) State the rating factors in Boiler Insurance.
b) Explain the coverage of losses after physical explosion of pressure vessel
and state how they are separately covered under boiler policy.
¢) Explain the meaning of “Collapse” and “Flue Gas Explosion” as relevant
in“Boiler Insurance”

(TS F 6 )
33 3 ey difert & wedf § fpdl @ a1 fad=w Filie ¢
F) woft Guel | A1 vEsA -
g) Wit &ft @ue H AN e
T T v R GUS F AN S |

Describe any two of the following for a Contractor’s All Risk Pohcy 6 each
a) Exclusions applicable under all the Sections.

b) Exclusions applicable under Material Damage Section

¢) Exclusions applicable under TP Liability Section.

fomto-ar v & 0o #1 352y (de) 7R 7 12

What is relevance of risk inspection at construction sites? 12
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‘M A A B WTeTH 3 ST % TAd Tl W e faw |
Write the basic elements of cover in “Advance Loss of Profit Policy”
T T 3 A W % siwia @ @ dag T R

Provide the conditions relating to claims for Advance Loss of Profit (ALOP)
Policy. - '

wefta g% Fit gifa uiferst & ol frefeia we ST
%) wifas &fy graae

g) TR

T) Hhd @™

¥) e vdernl #it B |

Explain the following terms as applicable to Machinery Loss of policy.
a) Material Damage provisions

b) TumOver

¢) Gross Profit

d) Auditors fees

12
12
12

12

16

16
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ASSOCIATESHIP EXAMINATION
MISCELLANEOUS INSURANCE

;3 6 ] . [Ee e 100

Time: 3 Hours] [Total Marks : 100

mmma\amﬁﬁmmm%mm%mwaﬁaﬁqﬁ%u
I At TRAF YT 12 AFH R |

Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

. Marks
|, Tt ot SowsHl & I e (3 & 4 37%)
%) ST gHeAT fur 77 T A g gia S | ,,
§) I & TR F&T H fafae ik fafie i off i g d
goftma dfwre . 1,00,000 AR A Aiferh a9RT |
) YifrEs i F g gagl s affeer @ o @ 2
q) ST KA e fiu, Wryfed SHaT Afs gee dftar et
IS SAfFdTd gee St Fit g Siag |
1. Write any three from : 4 each

a) Listout the principles that guide Personal Accident Insurance.

b) Mention the types of disablement in brief and draw a benefit chartup to a
CSI of Rs. 1,00,000/- in the event of various Contingencies?

¢) How do we classify the Groups for the purpose of computing premium?-

d) Compare JPA and Group JPA and also PA based social insurances?

2. Tt ot suwe & s &R (9l % 4 3i)

%) e 9 WifRyE & siauid sia-si9 § a8 2

Q) Y e d uifaral, s @Red din et 9 59 a@
3FerT gt € 7

M) Waﬁmﬁﬂﬁaqﬁzﬁwﬁqﬁamaﬁmmﬁw
HINT |

) | &5 % foTT I ey sftar aeRun 4 9 ot ww woEEl
FIT |
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2. - Attempt any three from : 4 each

a) What are the coverage provided under Health Insurance Policies?
b) How the group health policies differ from Individual health policies?
¢) Analyse the developments recently taken place in the Health Insurance

Sector?

d) Discuss any one of the covers available in the social sector under Health
Insurance?

TRl ot 39991 & I SR (T & 4 3(F)

%) uY i Wil 3 sfia SwEwor ek TS TR HAC |

) we-ar 3T qAetar & w o @ ?

T SfeeE M w7 o S quRe &9 g8 g g a
TR |

¥) Tt st A Y dede @y diferdt 3 si aaRa fFd 99 €
39 & A T M 3T 8 7 i R F 5w, e
& gy fafae |

Attempt any three from: 4 each.
a) Specify the cover provided under the cattle insurance policy and the
exclusion applicable.

b) Whatis the difference between Coinsurance and Reinsurance?

¢) WhatisFacultative Reinsurance? Why is it not very popular now, generally.

d) In rural insurance, the agricultural pump sets are coverable by an
independent policy. What is the cover provided, the rating factors and
excess provision.

Tt & 3u-yl & 3w fafae (97 6 3i)

%) doR &g fiwr 7 F-wi o sreHiEma off & freg ey 5
et 8 2

®) d6d gioqfd wifer & smestq fifaw |

) w,mmmﬁaﬁs‘ﬁméf?

Write any two from : 6 each
a)  What are the various contingencies provided under Banker s Indemnity?

b) Define the exclusions under Banker’s Indemnity?

¢) Isthere any conditions put for the cover Banker’s Indemnity?



TRt ot 3T-ye1 & S fafay

%)

Q)

M
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ye-ftar & 3fmia ‘frdft w ey & T T diw 8 @ w9a,
e o & A SAYEe B A T 93 T HAE TH
iferdt I 1 7 @ | TH RAdF | €. 10 ARG A gH-UI AL
@ Rt | @ e F R et w5 o oy R, F@ St
‘Breg WY B9 ot 78 | 39 g # A St 5 i o am ?
1.4.2010 / 31.3.201 1 & &=-dftar oiferdt S =t 7€ 12.2.201 1
P F. 4 G H G g | Giereh o Sfeia Toher AR Hi €. 3
ARG o1 | S-Sy § ge-3tfieRa @it ST R &, 40 R

dft1 1.2.2011 % FOURS T, 45 IRG H U7 T H AHTET

TH A1 | 39 gA-UiferRt & afaeia fiar St & e day F =
HT |

3% ¥ SR & HEied o6 €. 3 9@ B eA-ary geft F ot o
@ ot Anf o 9gie 97 & e W ok #t T SR A I8 deft o, @
v-T & deft 1 98 g3 T o @ 5 FHe 9 A @
T F & AT 71 o7 S R HT Teih TRR & TG F S
W1 I7 | §9 7aeq] ¥ fiurspat o Q1 W =@ S |

Write any two from:

a)

b)

A money policy is issued with per carrying limit of Rs. 8 lacs and the
estimated annual carrying to be Rs. 1 Crore. One day while Rs. 10 lacs
cash was being brought from the Bank, one of the two bags containing
Rs. 5 Lacs was snatched in an hold-up. What would be the liability of the
Insurance Company?

Money policy issued for period 1/4/10 to 31/3/11. Aloss occurred on 2/
2/11 of Rs. 4 lacs. The per carrying limit under the policy was Rs. 3 lacs
and the estimated annual carrying of Rs. 40 lacs. It was found that till
1.2.11 the Insured had already carried cash of Rs. 45 lacs.

Discuss the insurance Company's liability under the money policy.

A bag containing cash of Rs. 3 lacs, being conveyed from Bank to Insured's
office was stolen from the parked car at a Petrol Pump, on the way. It
appears that the employee had gone to settle the petrol bill and the driver
was checking the tyre pressure. Discuss the liability aspect of the insurer.

(TTF & 6 )

6 each
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&t 2 37 79l & I frfae . (Tl & 6:37%%)

F) USd e AT § Hi Q AR I §, THH ARG Faw
fafEe |

T) ‘we T F o w8 ? 7 o T i ATd F F R
3TETTT § GMET HTAT G99 8 7 3R E  Fi9 e s1maRa g 22
Wi g fiA 3 AEH-375T TeF Hia € 7

) FAAE IR F 93 @ I-wd dtw @ ‘99 aes @i w)
feuft fafae |

Attempt any two from :
a) Whatis the cover provided under Pedal cycle Insurance? Write the same
indetail.

b) What does the term Plate Glass mean? Is it possible to modify the cover
to include other types. If so what type? What are the underwriting factors
in Plate Glass Insurance?

c)  Write anote on E Commerce Insurance/Web Business Insurance which
is now picking up.

T IS AT FHUA R S T & A S 8, 79 ST Fwia
& fore it graerh wh STt @ 2 et weu § fiew e G
iferet AiSe S TeEar 98 e F |

When a Package policy is to be devised by the insurance company, what care
will have to be taken for its success. Explain with the help of any model, which
may form in your mind.

foRT AE T ST e H 7 Fae 1R gefe a1 i §, 21y

I B FOl | oft fom-af™ & Wt 8 | UF SR ar vt avaed
Fieht €, o frga faa=m SR |

A financial loss may be caused to the person going abroad on tour not only in
case of serious accident or illness, but in some other cases also. Which could

be these cases/situations? Give a somewhat detailed reply.

 6each

12

12

12

12
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dod arfayfe dftar =& Tan-=E R w9 F o 5w fw & g R
g 1 39 Hedl § i uf¥, o1gw faa evfy, (R1 & o
forT S W) e qor 1 Ta: g o 39 giferdt e & ¥ @
3Tvas 3 R o feaon fafag |

The Banker’s Indemnity Insurance is subject to some special features to contain
claims outgo. Write in detail about the application of excess, operation of
retroactive cover; limitation on reinstatement, and a few important exclusions
applicable to such covers.

. HRER IR & g I &t SEaret Gemd st aifedt w1 qerd

AT M & ? 39 uiferelt & W@ STuasiAl H Icet@ IS | A
WM 3TeRuT & feferfaa aRed -l W g faeor fofed

) gEemeft wifert

i) WS uiferet

i) JUT g aiferdt

What is the basic cover provided under the Burglary Policy issued to business
premises. Also, specify the major exclusions therein. Write in some detail about
the following variations in the standard burglary cover.

D  Declaration Policy

i) Floater Policy

iii)  First Loss Policy

12

12

16

16
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ASSOCIATESHIP EXAMINATION
LIABILITY AND ENGINEERING INSURANCE

|qUT : 3 6e ] ~ , [e 3 @ 100

Time: 3 Hours] ' [Total Marks : 100
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Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
_compulsory. All other questions carry 12 marks each.

Marks
1 Tl i WO fewfomt fafe - (EEF4 )
%) 3 & i
T) e Tl
T IEE
H) R R s

1. Write short notes on any three of the following 4 each
a) Contract works policy
b) Nofault Liability
¢) Nuisances
d) Notification extension clause

2. ﬁﬁ??ﬁ?%mﬁf@q (S8 % 4 k)
) ] sfee Few |
) W g
M) wﬁmﬁq?:m
1) mﬂqta'rﬁﬁ TR ?

2. Explam any three ofthe following:- 4 each
a) Claim series clause
b) General Damages
¢) Structured Settlements
d) Whatis "Cross Liability"?
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Foredt ot ¥ TR AR (5 3 4 )
%) I §d St wiferdt % [ S0
T) B4R IrgEl v HE & Sifkad
) St S F ST & SR e 87
12) a‘&mw‘sﬁ@wwﬁﬁtﬁaﬁmwaﬁmﬁwﬁ%”

Describe any three of the following :- ‘ 4 each
a) Add-on covers under EAR Policy. ‘

b) Hazard in Construction of Airports

¢) Explain the purpose of excess in Engineering Insurance.

d) Whatis the period of cover under Contractors All Risk Policy?

Tt @t & S T (T & 6 3h)
F) AT HrfEH 1 feier RF TTeh T a8 I (T BT |
T) e SRew e agar qferat o fefeeT 3 SMavas SHER
W SN |
M) S SfE g Saar wierdt it §, HiE T ghe
o, i T o WA T STUE T AE (A9 B

Answer any two of the following : ‘ 6 each
a) Factors based on which reinsurance programme are arranged.
b) Information required for rating of public liability of Industrial Risk.
c) Ilustrate the significance of
AOA : AOY Ratio inrating of Industrial Risk Public Liability Insurance.

Tt gt & s T (% & 6 3)
F) i qver § wiF 7 (3 % o) §io § vg eS8
3 afagfe 1 omuR = § 7 =9 HN |

@) soFifae ST &M & gfqR &1 YR o siwa # wAd B
guiq FHIST |
) Siey afoyfd S eweRer it S W == Sy |
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Explain any two of the following : ; 6 each
a) Whatare principle exclusions and basis of indemnification in
deterioration of stocks [Other than Potatoes Policy]
b) Elaborate the basis of indemnity & condition at average in respect of
Electronic Equipment Insurance.
¢) Scope of cover for Professional Indemnity for doctors.

Tt &t & S| fafan (FAF & 6 )
%) aTgeR T I GET A d gg I WA v A9 fawnie’
N YR T HIAC | '
§) wefiad oftar aifert, ﬁ?aﬁﬂﬁqﬁf@ﬁ'ﬂ?ﬁaﬁlﬁawﬁﬂﬁﬁ
gfal &t SaRa w27
) =, R gEA @ aeie, Tefted i 3g @ swE Sifed g
87 =l 2

Describe any two of the following :- 6 each
a) Terms collapse, Boiler and Flue gas explosion in Boiler and Pressure

plant Insurance.
b) Under what circumstances Machinery Insurance covers damages to

Insured Machinery?

¢) AreMachines of Power Plant good risk from Insurance Point of view?
Why?

s e S &1 g T ST ST 39 9 & e adn 12
foreamd W ==l S |

State the objectives of Employee's liability policy and explain its coverage and 12
extensions.

“aefivd ATk @1 e wierd & sfteies § sifEw e weeqn 12
B 8" - 78 faem T HAC qon WA 92 TE HIT |

"Risk Inspection is vital for underwriting of MLOP policy.” Explain the factors 12
considered for rating.
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‘- we-Seu st § eer it ey ey qeeyul sew 87 -
YRS & WA Iufked IRR9R & e & o9 e w o=l &% |

"Period of cover in Marine cum Erection Insurance is very important aspect.”
Elaborate this statement visualising salient situations faced by the Insured.

A § ST ST U &1 39 USY W, 99 T Sl @ S 5
Y IAEH H WU B & oI A e rerer giem A |

With evolution of consumer awareness in India, Suggest suitable cover to
Manufacturer's to protect Liability arises out of Item's Sold.

12

12

16

16



